UGC NET 2021 Philosophy

Topic:- GP_Set2_C
1) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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India’s cultural diplomacy is centered around

(A) Ramayan

(B) Multilateral engagements

(C) Business Promotion

(D) People to people contacts

Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (A), (C) and (D) only

(3) (B), (C) and (D) only (4) (B) and (D) only
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(1) = (A) 317 (D)
(2) == (A), (C) 31 (D)
(3) ¥ (B), (C) 377 (D)

(4) == (B) #ik (D)

[Question ID = 3557][Question Description = Q46_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13691]
2.2

[Option ID = 13692]
3.3

[Option ID = 13693]
4. 4

[Option ID = 13694]

2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
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people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets

(B) Yoga

(C) Cricket

(D) Ramayan

(E) Sanskrit

Choose the correct answer from the options given below :



(1) (A) only  (2) (A), (B), (C) and (D) only

(3) (A) and (D) only (4) (A), (B), (D) and (E) only
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3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Which of the following is not reflective of India’s soft power status?

(1) Digital India (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy
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4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various

layers of society is considerable.
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Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology

(B) Folklore

(C) Tourism

(D) Yoga

(E) Education

Choose the correct answer from the options given below :
(1) (A), (C), (D) and (E) only  (2) (A), (B), (C) and (E) only

(3) (A), (B) and (E) only (4) (B), (C), (D) and (E) only
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1 [Option ID = 13703]
2 [Option ID = 13704]
3 [Option ID = 13705]
4 [Option ID = 13706]
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5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The passage highlights



(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries

(3) India’s cultural hegemony

(4) India’s relations with BRICS countries
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Topic:- GP_Set2_A

1) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs z0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% d
October 8% W
November 12% il
December 16% e
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What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same
company?

(1) 119 : 145 (2) 116 : 135

(3) 119 : 135 (4) 119 : 130

DELL =m0t = g 5eis 331 famean 9 s 72 fafs woorst i g = sgard o= 27

(1) 119:145 (2) 116:135
(3) 119:135 (4 119:130
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4. 4 [Option ID = 13714]

2) (Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% &4
August 22% 4:5
September 25% 3:2
October 8% e
November 12% 7:8
December 16% Y

freAifRa @ifer 1 =99 © 2 fags vk faghan & g 978 2019 § faEest 2019 9% 59 U S o
% faao it wlaemar 9 HP =R DELL #0241 =+ @9F 1=t 1 g Fef @t & #m= % omqema
FIET T 7| T st ° e adt sl gt i g wen 45,000 (darfem www) 21 Ao | fag o
TS F HUR T 977 FH I 3

DELL i
JeE 17% 8:7
ST 29% 4:5
T 25% 3:2
AT 8% 7:5
T 12% 7:8
Temw 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during
that month were sold without a discount?

(1) 882 (2) 1635

(3) 1638 (4) 885

ST Faren § HP #0091 % 356% el wors gz un s o o1 w6 ade § HP we & e s s




Lisa B3 B o S it e N S

(1) 882 (2) 1635
(3) 1638 (4) 835

[Question ID = 3563][Question Description = Q02_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718]

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% &9
Augusat 22% 4:5
September 25% 3:2
October 8% e ]
November 12% il
December 16% Y

feAifeRa Aifer 1 w9 ° 2d fams vk faghan & g7 9o 2019 ° faEmst 2019 9% 5= 70 FSf T
% faawo 1 ufaemar a1 HP @in DELL w21 % @9 siata 5 fafia Fef ot & = #1 smoa
FaItEr T 7| g st | e adt fsf gt i s we 45,000 (darfem wew) 21 e | fag e
STHS *F HUR T T77 H I 3

DELL i
JeE 17% 8:7
ST 29% 4:5
e 25% 3:2
AFZAT 8% 7:5
T 12% 7:8
Temr 16% 7:9

If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?

(1) 6,49,900 (2) 6,45,900

(3) 6,49,400 (4) 6,49,500

3R 3Tgst % oo™ DELL S0 & fashar o wedsh [ @k o5 %, 433 0 @ Wi fRa 9 29 e

3§ et 1 v e firem ?

(1) £ 6.49.900 (2) ¥6.45.900
(3) 16.49.400 (4) ¥6,49.500

[Question ID = 3564][Question Description = Q03_GP_20NOV_S2_SHAAN_Shift2]



1 [Option ID = 13719]
2 [Option ID = 13720]
3 [Option ID = 13721]
4 [Option ID = 13722]

AN wnN -

4)  Consider the following table that shows the percentaze (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs z0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together iz 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% e
October 8% ih
November 12% il
December 16% e

AT aifern 1 & © 2 fogd vk faghar & grr 9enms 2019 © fa@est 2019 9% == 7o FHsft g
% faawor 1 ufqemar a1 HP #in DELL w3t = a9 sty 9 fafim fefi et = = #1 s
Zon T 2| g st | T adft S @ i 5w @e 45,000 (Fartom wAR) 20 e § f2o o
FTHS % ATUE T YTF H I G

DELL i
I 17% 8:7
T 29% 4:5
e 25% 3:2
ATz 8% 7:5
AT 12% 1:8
famr 16% 7:9

The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company
HP during December?

(1) 110% (2) 140%

(3) 150% (4) 130%

A % BAH § HP 001 % g o9 70 1 S 61 5 [5Esn % 5eH § HP #eE] % grl e T

(D 110% (2)y 140%
(3) 150% (4) 130%

[Question ID = 3565][Question Description = Q04_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13723]
2. 2 [Option ID = 13724]
3. 3 [Option ID = 13725]
4. 4 [Option ID = 13726]

5) Consider the following table that shows the percentaze (%) distribution of the number of



Fersonal Lomputers (Fws) solda by a dealer Irom «July 1o December-<U1Y and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCsz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Augusat 22% 4:5
September 25% 3:2
October 8% 18
November 12% il
December 16% i)

AT aifern 1 & © 2 fogd vk faghar & grr 9enms 2019 © fa@est 2019 9% == 7o FHsft g
% faawor 1 ufqemar a1 HP #in DELL w3t = a9 sty 9 fafim fefi et = = #1 s
ZIET T B | T At g e et fef g & 3w 45,000 (dETiem wEw) 2| Ao § i o
FTHS % ATUE T YTF H I G

DELL i
I 17% 8:7
T 29% 4:5
e 25% 3:2
ATz 8% 7:5
EE=T 12% 7:8
famr 16% 7:9

What is the total number of PCs sold by Company DELL during August and September together?
(1) 10000 (2) 15000
(3) 10500 (4) 9500

3T wE T g 98l § DELL #00 * gr & T et 5 Sorni i g e 27

(1) 10000 (2) 15000

(3) 10500 (4) 9500

[Question ID = 3566][Question Description = Q05_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13727]
2.2

[Option ID = 13728]
3.3

[Option ID = 13729]
4. 4

[Option ID = 13730]



Topic:- GP_Set2_B

1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

forer = 3w war T eTTeTEATeR S 9= % 399 1 GEAY HEE A 27

(1) fdw®m (2) AT T
(3) famefi-fa=7 = (4) w=ET = T

[Question ID = 3567][Question Description = Q06_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13731]
2. 2 [Option ID = 13732]
3. 3 [Option ID = 13733]
4. 4 [Option ID = 13734]

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C) only (2) (A), (C) and (D) only
(3) (B), (C) and (D) only (4) (C), (D) and (E) only

s fafmme 3 & %9 = =Eem 19 fEE o T 27
(A) ==

(B) forerm—Fr-qaifaee

(C)  =ew Tafasman

(D) TB-TqEa

(E) Yazas

F= f2u v fawe B | wE 39w 99 A

(1) = (A). (B) 37 (C)
(2) A (A). (C) 31 (D)
(3)  =Ad (B). (C) 3 (D)
(4) = (C). (D) #W (E)

[Question ID = 3568][Question Description = Q07_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13735]
2.2

[Option ID = 13736]
3.3

[Option ID = 13737]
4. 4

[Option ID = 13738]

3) Match List | with List Il gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (I) Compares one student with another student

(B) Summative Evaluation (lI) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(11), (C)-(1), (D)-(I) ~ (2) (A)-(li1), (B)-(IV), (C)-(IN), (D)-(D)



(3) (A)-(I), (B)-(D), (C)-(1), (D)-(IV)  (4) (A)-(), (B)-(I), (C)-(IV), (D)-(I)

TH1-1 % |1y geAi-11 =7 e Fifsm) 9o =t goar i fatie aglaat 1 2, 938 5 o 55 =it
e i 2| g1 v gL e

-1 711
TeTFA-Tgh e
(A)  Tmiome e (D) v feemeft 1 g famnefi & gemn Fa 2
(B) HHEHTHF Hoaia (1D v% faemsff i oo @ foifm == @
Al 2|
(C) Fr=w i gearsa (ITT) wome: wfem 6 afamon w3 @9zE %
ECtRE
(D) wEF T goar (IV) wymg: Fuus wifg & g 29 096
& 21

A fou v famegt @ ® @ 3T W =8 i

(1) (A)-(IV). (B)-(III), (C)-(I). (D)~(II)
(2) (A)-(TID), (B)-IV). (C)-(II), (D)-(I)
(3) (A)-II), (B)-(D). (C)-(III). (D)-(IV)
(4) (A)-(D), (B)-(ID). (C)-(IV), (D)-(IIT)

[Question ID = 3569][Question Description = Q08_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

I 21 Fya faw o B

F94 (D) : e = st (wifaefiar) 2o =1 o geya fogea & & e 9= asfifa f
AT T wAg 7w 99 W E o SfE wET =

F (1) v < yEEOEE] e g % smER = gt see My w9 8 gErieen
_F:ﬁ"l El Eo':"\

I HE * ATAF °, = 5w e 9 9 e 3w = il

(1) = () =18 (1) 341 72 &

(2)  FE (1) R (1) 3 3793 7

(3) e (I) &eF 3, wtF = (1) /e 2
(4) e (I) 3@ 2, AfF= Fom (1) ¥ 2

[Question ID = 3570][Question Description = Q09_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13743]
2. 2 [Option ID = 13744]
3. 3 [Option ID = 13745]
4. 4 [Option ID = 13746]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’.



Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

Hi= 3 wuA 5 T F ;. uw AfYwYT (Assertion A) % ®9 # feffiga & af ?HEHEEWW (Reason R) &
w0 H :

AR (A) foem, feE vd wIfaTEEAl % ASY AHIATHS UH AR fAEr R HHEE
FIAT B, ¥ T2 AT v uiEr g fium )
A (R) R o1 o s b Mt A B o | A B et e R e e ) e ]

IR A AT °, = fon T et § 9 e ST 3 S =E i

(1) (A it (R) ZHT =2 & 3fi (R). (A) = @@l = 2

(2)  (A) R (R)FA FE E, T (R), (A) F w6 = 1w e
(3) (A &, @A (R) 781 79 =

@) (A= FE R, T (R) T ®

[Question ID = 3571][Question Description = Q10_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13747]
2. 2 [Option ID = 13748]
3. 3 [Option ID = 13749]
4. 4 [Option ID = 13750]

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

freferfas omal 8 @ Frag Ay A i T & T R S 20

(1)  =eT-gva-gard (2) i g
(3)  UARERE ArAAEE (4)  TETIEEE HETE

[Question ID = 3572][Question Description = Q11_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13751]
2. 2 [Option ID = 13752]
3. 3 [Option ID = 13753]
4. 4 [Option ID = 13754]

7) ldentify the main features of ‘qualitative research’ from the following :

(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single objective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process

Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B), (C) and (D) only (4) (C), (D) and (E) only

= & ot femreaTett | ©@ Tomen sy i gEe =

(A) =g glawrl = giss o "o % SEEy ° gesiad gl
(B)  3HE 7% AT W1 2 HETE A27 Faw OF e e ¥ 5 B
(C)  ivamefl adm T e feafEn § fe A A 2

(D)  =eneff gewE o = % AU o9 ST W AemEE I g A o Al

(E)  3o# wome wd sE-gERaT 291 °§ ST 5 2

Hi fau v famewi @ ® @ 3T w1 =84 it

(1) =& (A). (C) 7R (E)



(2)  =&aE (A). (B) 7R (C)
(3) = (B). (C) 3 (D)

(4)  F&E (C). (D) 317 (E)

[Question ID = 3573][Question Description = Q12_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757]
4. 4 [Option ID = 13758]

8) Match List | with List Il :

List I List Il

Methods of research Features emphasized

(A) Experimental (I) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (Il) Status of facts and conditions are ascertained

(C) Descriptive (lll) A variable is manipulated to see its effect on other variable

(D) Historical (IV) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below :

(1) (A)-(h, (B)-(11), (C)-(lin), (D)-(1V)  (2) (A)-(11), (B)-(1), (C)-(IV), (D)-(lI1)

(3) (A)-(1n), (B)-(IV), (C)-(ID), (D)-(1)  (4) (A)-(IV), (B)-(Il1), (C)-(1), (D)-(11)

=11 F = g=-11 1 Toem Fifsm
-1 T=i-1T
71 TgieE s T
(A) wEFTEEH () AT HEE=AT W 9 od 50 TMAEE
i @i 1 e w A
(B) MM (I) ufifeafaal va awai #1 feafa gHtr=aa i
R 2
(C) =vHHS (ITI) ZH =% 92 U9E @A F o o =90 H 2
T S R
(D) UiTETE (IV) fawe +1 @9 &9 7U Amfs s 9=

= f5u e e B H HE 3 R A i

(1) (A)-(D). (B)-(IT). (C)-(III). (D)-(IV)
(2) (A)-(ID). (B)-(D). (Cy-(IV). (D)-(III)
(3) (A)-(IID), (B)-(IV). (C)-(II). (D)-(I)
4) (A)-(IV). (B)-(IIL). (C)-(I). (D)-(IL)

[Question ID = 3574][Question Description = Q13_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13759]
2. 2 [Option ID = 13760]
3. 3 [Option ID = 13761]
4. 4 [Option ID = 13762]

9) Given below are two statements :

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il : ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 31w foaw T E

F97 (D) FIEYE H A -TavelNe Uh g HE B % S EE - A S
FT (1) : FEEF % STH Ui = § e diL A, gEe wan B

IYUTF FYF F AEE 0, T B v e # ¥ o 39 %1 == Fifaw




(1) = () =i ID 34 709 &

(2) = (I) 3 (1) 3T 378 2

(3) w9 (1) 73 2, @ =9 (I11) 3190 2

(4) = (1) A5 2, @i w9 (1) #eg 2

[Question ID = 3575][Question Description = Q14_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13763]
2. 2 [Option ID = 13764]
3. 3 [Option ID = 13765]
4. 4 [Option ID = 13766]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

I 3 F9F fRu U ;o wfiweE (Ascertion A) % 9 § foifigd & @ EL =I5 FA0 (Reason R) &

EqH :

R (A) : 5@ Tl afweTar (UHo) iR w4 I 2 Al AqEeEEal f g
(w=r:) == = e R

F (R) : i afeer (vm0) vF mEiTE ufiweT T B AR vE (UE:) '@ ' OF FhEm

TR { #7 qieT Eﬁ?&fh £ affa § o 5 2
ST YA % A o, = fou e fokedt 8§ | awE 9w I o 99 i

(1) (A) =R (R) 3 WA & &7 (R). (A) 7 787 = 2

(2) (&) ¥ (R) 3 HE 2, = R). (A) F H8 = 96 8
(3) (AT E, @ (R) 78 76 =

4) (A TE FE 2, @i (R) wE R

[Question ID = 3576][Question Description = Q15_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13767]
2. 2 [Option ID = 13768]
3. 3 [Option ID = 13769]
4. 4 [Option ID = 13770]

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?

(1) Linear Model of Communication (2) Interactional Model

(3) Non-Verbal Cues (4) Para-Language

fr=fafms 4 & Fi9 wmeE @6a F1 A5 33w 7 e smr-wme (fm), = (=), 7 (399)
S fermy (9is) =1 ST e &7

(1) @@= i gisa (2) waEE Tgha
(3)  3THYHIT Tehd (4) U am

[Question ID = 3577][Question Description = Q16_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13771]
2. 2 [Option ID = 13772]
3. 3 [Option ID = 13773]
4. 4 [Option ID = 13774]



12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise.
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

Fr 21 o fow T 2 oF AfMFEH (Assertion A) F ¥4 H fafEq ® 1 550 30 FEW (Reason R) F
A

HAFA (A) AOEY F Ty § SEURUTeE T Tied W Seed wdl & 9 wfees-uin
(FS-=m) Fed B

F (R): I M FEadTE Sl % A0 991 % || mieem - A A

IO FYA F A 1, A 5w e Tt 3 @ we 9 I # 96d Hie

(1) (A) ¥R (R)7H =4 £ @R (R). (A) F1 =78 =wen 7

(2) () ¥R R) T T4 2, A (R). (A) F1 97 =wen 774 2

(3) (A R, T (R) T 2

(4) (A =E TF 7, witE (R) @R 2

[Question ID = 3578][Question Description = Q17_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13775]
2.2

[Option ID = 13776]
3.3

[Option ID = 13777]
4. 4

[Option ID = 13778]

13) Given below are two statements :

Statement | : Appropriate word choice is an essential of effective oral communication.

Statement Il : Facial expression and postures fall under visual communication.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 31w faw o 2

9 (D) : THTE TTEF T B FEF TES] T AETIE A
Fo (10) : Hifgs 99 w3 G grE-amEn % e 2

I HU F w6, S 2w el 9 8 w39 o= i

(1) = (1) 39 (ID) 21 a9 2
(2 = (D) ok 1) 3 s #
(3) = (1) a2, = = (1) 5190 2

(4) = (1) 76 2, wih e (1) 909 &



[Question ID = 3579][Question Description = Q18_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13779]
2. 2 [Option ID = 13780]
3. 3 [Option ID = 13781]
4. 4 [Option ID = 13782]

14) ldentify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (D) and (E) only

wrgifefad gt 7 ° Jrge # Sranet F# 1w -
&) T

(B)  =ufta sgw

(C) == wd foram =i Fzag =

(D) == v R = e ag

(E) T %9

A= f2u v el § | HE 390 w1 =59 S

(1) == (A) 31 (B)
(2) = (B) 37 (O)
(3) & (C) @i (D)
(4) == (D) #R (E)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13783]
2.2

[Option ID = 13784]
3.3

[Option ID = 13785]
4. 4

[Option ID = 13786]

15) Match List | with List Il :

List | List Il

Types of Communication Main features

(A) Downward Communication (I) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (Il) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(11), (C)-(1V), (D)-(lI1)  (2) (A)-(11), (B)-(1), (C)-(lD), (D)-(1V)

(3) (A)-(I, (B)-(IV), (C)-(), (D)-(I1)  (4) (A)-(IV), (B)-(llI), (C)-(I), (D)-(1)

-1 = =y -1 =1 foem Fifoe
I THI-1I
HE o TR e fasran
(A)  FrIE EE (I) HE % HEEA H e i ATEYEEdT
W1 A o THET | e 2
(B) 3wt weg (I) FE-TH=77 &d [9F o4 °H uH F9Ent

T T 2



(C)  &ifas weg (IIT) =ame faval v wwenar 6 ofqgfe & @y
=l A 2

(D) Tu-arsd Gy (IV) Tl i oo =1 98 wd-gmEE gEEn
T 7

I 20 U e § W T 398 @ 989 S

(1) (A)-(Dy. (B)-(II). (C)-(IV), (D)-(I1T)
@) (A)-D. (B)-(D). (C)-(IID). (D)-(IV)
(3) (A)-(III). (B)-(IV). (C)-(D). (D)-(II)
@  (A)-AQV). (B)-IID). (C)-AD). (D)-@)

[Question ID = 3581][Question Description = Q20_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789]
4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

7fg Famea, fawarea =1 25% 2 o oy it i Fm 2 7

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13791]
2. 2 [Option ID = 13792]
3. 3 [Option ID = 13793]
4. 4 [Option ID = 13794]

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?

(1) 5% (2) 10%

(3) 15% (4) 20%

s fagar 26 et 9== 5. 20/FFa1 & 27 W wiiz w1 o0 g wEE w30 e == e g e e
354 %, 36/ % 7 W wlEr o1 ok 5w wen fafim gu wmEe w30/ F 3w s 2 I A
=1 faeraan a3 7r 7

(1) 5% (2y  10%

(3) 15% (4) 20%

[Question ID = 3583][Question Description = Q22_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6
litre of pure milk. What is his profit percentage?

(1) 33.33 (2) 66.66

(3) 133.33 (4) 166.66

w Fg-Toha 5. X/ = @ W 39 wig 5. 20X/ F @ W Al 2| 99Eg 36 98 2 e o
T 6 e WG g9 § fien Zar 21 36 @ it uiewmken 4 2 7

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800]
3. 3 [Option ID = 13801]



4. 4 [Option ID = 13802]

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs. 5,200. What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs. 3,500/-

(3) Rs. 4,000/- (4) Rs. 4,500/-

P 3R Q i sitea @i A= 5050 94 &, Q ¥ R =i sit@a @ifesw s 6250 w94 @91 P o R i

ST TE A 5200 ¥ 2| P A oifi ar e g e

(1) 3.000/- =74 (2) 3,500/- =91

(3) 4,000/ %7 (4) 4,500/ 572

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of
first term?

(1) 15 (2) 20

(3)25 (4) 30

4 GEATAT T FET 20 B 9T TESA WA W 3 GEAST o A7 F 1/ 3 F| TueAl G H AW AR ?

(1) 156 (2) 20
(3) 25 (4) 30

[Question ID = 3586][Question Description = Q25_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13807]
2. 2 [Option ID = 13808]
3. 3 [Option ID = 13809]
4. 4 [Option ID = 13810]

21 ; s : : ; ;
) According to Naiwvayikas we ascertain the relation of umiversal concomitance between x

and v :

(A) We can determine the relation only if we can determine the relation of essential
identity between x and y

(B) By perceiving that in all cases the presence of x 1s accompanied by the presence of ¥

(C) We can determine the relation only if we can determine the relation of cause and
effect between x and v

(D) By not perceiving any instance where the presence of x iz not accompanied by the
presence of ¥ or vice-versa

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (D) and (C) only
(3) (B) and (D) only
(4) (A). (B) and (C) only

FeAaFl % AR =9 x A0 y # AR G w Fee gty #d 2

(A)  x 3R y F o= FUNEE AIEE AT UHeREAl 1 G- GHEd BH W R 56 e B ad
|
(B) =i oftfeuta g x i mfeata % @y y 1 Sufeaia w9 w06 91 99 w1

— 3, - - e s e N - 1 r Fo e T



=H HE-d =Rl 41 HIHIREA = O9d & 99 75 x AN ¥ =6 |9 FwEH—HE0 HEEET HIFE=ED B o

(D)  x Fi sufeafa & wa y Fi sEaetE @y £ sofcafa F @y « Foagefata = 6 f e =

A9 T HH|
4 15U TTu faedl B W HE I 55 Hie

(1) ae (A) 30 (O)

(2)  a= (D) 3R (C)

(3) === (B) 51 (D)

(4) == (A). (B) #AT (C)
[Question ID = 3587][Question Description = Q26_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13811]
2. 2 [Option ID = 13812]

3. 3 [Option ID = 13813]
4. 4 [Option ID = 13814]

22) Match List I with List II ;

List I List IT
(A)  Vyapti (I)'  The property being inferred
(B) Linga (II) Locus of hetu and Sadhya
(C) Sadhva (IIT) Sign or reason
(D) Paksa (IV) Universal concomitance

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(III). (C)-(IT). (D)-(IV)
2 (A)-aD, (B)-AID. (C)-(I). (D)-IV)
(3)  (A)-AV). (B)-(ID). (C)-(T), (D)-I)
@  (A)-AID. (B)-1). (C)-AV). (D)-I)

FHt-1 & =19 gH-11 =1 faam i
el Exig!
(A) =t D TTEE F AT
(B) e (I) 29 =1 =0 1 T4
(C) =1 (III) Hehe HA9=1 FE0]
(D} w& (IV) =rEdtias emiea

=t fou 7o fomeai § @ W 3= w1 == i

(1) (A)-(T). (B)-(III). (C)-(II). (D)-(IV)
{(2) (A)-(ID), (B)-(IIT), (C)-(T). (D)-(IV)
(3) (A)-(IV). (B)-(I1I). (C)-(I). (D)-(II)
(4) (A)-(TIT). (B)-(I). (C)-(IV), (D)-(IT)
[Question ID = 3588][Question Description = Q27_GP_20NOV_S2_SHAAN_Shift2]

1. 1 [Option ID = 13815]
2. 2 [Option ID = 13816]



3. 3 [Option ID = 13817]
4. 4 [Option ID = 13818]

23) (Given below are two statements :
Statement I : According to Claszsical Indian Logic the fallacies (hetvabhaza) are not

errors of inference, but rather hindrances to inference.

Statement 1T : A fallacy 1s really a “seeming reason or mark” (hetvabhasa), which. if

recognized, would prevent the inferential cognition from arizsing.

In the light of the above statements. Choose the correct answer from the options given

below :

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are falzse.
(3) Statement I 1s true but Statement IT 1= false.

(4) Statement I 1s false but Statement II is true.

i 31 = fau w2

F9 (I) : YA g7 TS F STER oA A w1 A Al S0 SEde 2
o (ID) : ECITHTE TG STEE WA S9GT Hhd £ A W SAMESE 7 OA 9 S w5

= U F HEET =

IEIF FUF F AT H, A @00 FEmed § ¥ HE 39 @ 99 i

(1) =¥ (1) 31 (II) 31 &ea 7

(2) = (1) 30 (D) 21 e 7

(3) = () 5e7 2, wifwa % (1) 793 2
(4) A (1) s/me 2, Sifa F9E (1) 97 2

[Question ID = 3589][Question Description = Q28_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13819]
2 [Option ID = 13820]
3 [Option ID = 13821]
4 [Option ID = 13822]

AN wnN -

24) ‘‘All radically egalitarian societies are societies that do not preserve individual liberties’’.

Which of the following statements is true with reference to the above statement?

(1) ‘““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) ““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) ““Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) “‘Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.

g weft HUAEE THTH UH WA 2 W SAte wEadeIal S Sed T8 a5l SAdiieigd Y 8 8w
I FYF ST % q5d H HA B 7

(1) = off goa. TuaEE T UE @A TR 2 S Fafe Sdea ® @iad a2l 2 weE
=1 47 Ulaatda @ & 1T a1 ®9 9 J9geT 7

(2) F% ff Ooiq: THAEE TS UE GUTS T8l 2 S S4iws Tadea S Sad e 2| 2 T s

P - e %



R Ar Algdidd |99 & AR dii=hsh 9 8 A89HGF &

(3) =% goa: THAEE] WA UH FE 8 S AR S Sad i 2| e T w5 g9g afaed
99 & S a1l =9 ° g9H 2|
et AT 2 N difEE =9 § gEde B

[Question ID = 3590][Question Description = Q29_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13823]
2. 2 [Option ID = 13824]
3. 3 [Option ID = 13825]
4. 4 [Option ID = 13826]

25) Two propositions are contradictories if :

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

21wl = 2 ot

(1) U, 38 1 fog wr & 91 T " 2

(2) ST, 2F Oed B BFA] £ S 2 FEeE TR 8 "

(3) oW IS w2y AR f9dg ug fim ¥, va o el ann o we 2

(4) 9P I 3239 SR fUm auH # 9 3 et 9T | 9 T 2wy o 9 et 2

[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13827]
2. 2 [Option ID = 13828]
3. 3 [Option ID = 13829]
4. 4 [Option ID = 13830]

26) What is the binary equivalent of the decimal number 67.625?
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101 (4) 1000011.101

ZUHEE WEAT 67.625 T TGAant THged 74 B 1

(1) 1000010 . 110 (2) 1000011.110
(3) 1000010 . 101 (4) 1000011.101

[Question ID = 3592][Question Description = Q31_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13831]
2.2

[Option ID = 13832]
3.3

[Option ID = 13833]
4. 4

[Option ID = 13834]

27) Identify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.

(A) RAM

(B) Optical Drive

(C) CPU Cache

(D) SSD

Choose the correct answer from the options given below :

(1) (B), (D), (A), (C) (2) (), (D), (A), (B)

(3) (A), (B), (C), (D) (4) (C), (A), (D), (B)

UFEY 2IEY 1 SIH § TEd 5T Gl o9 § HeH diY, W0 o 30 % 50 1w e 4 ¥ w@d wmy i eeE
Ead
(A) i

R

(B) A== 3154



(Cy g, W=
(D) THE.UEEL.
A fou o fpeul | © E 3 #1999 iU

(1) (B). (D). (A), (C)
(2)  (C). (D). (A). (B)
(3) (A). (B). (©). (D)
(4) (C). (A), (D), (B)

[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837]
4. 4 [Option ID = 13838]

28) Given below are two statements :

Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’.

Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

e[ (D) : TH. 1. AT =Y, T gaoE 2 - BHa e e s
F (1D : TH TS U AR U, W HAeW B - TS| 958 A% ViAo B 3 UHSE
AREH

IE FUF F T |, 49 2 T e § 9 mE I @ =9 i

(1) == (@) 3% (1) 3 73 7
(2) = (D) 31 (1) 3 =3aeT 2

(3) = (1) §ea &, witea = (1) s8en 2

(4) = (I) s@e 2, | w5 (1) we 2

[Question ID = 3594][Question Description = Q33_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4. 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B) On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and (C) (2) (A) and (C) only

(3) (B) and (C) only (4) (A) and (B) only

FfatEs 8 ® FH-FF 5 FUF T 91 H o =2, 9w gt w7
(A) TP FES 7% T5d
(B) #HA-w12 WIaH

(C) Topt 29 1 e fafwerda e



Fr= fou o fasedt @ w91 3w w1 9 FHifaw

(1) (A, (B) 3l (C)
(2)  =FEA (A) 37 (C)
(3)  =FAd (B) 3 (C)

(4)  FAE (A) 3 (B)

[Question ID = 3595][Question Description = Q34_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4. 4 [Option ID = 13846]

30) Match List | with List Il :

List I List Il

(Computer Terms) (Description)

(A) HTML (l) Semantic Web

(B) Web 2.0 (Il) Use of Internet to make phone calls

(C) Web 3.0 (lll) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(I, (B)-(1V), (C)-(1), (D)-(I1)  (2) (A)-(lI), (B)-(1), (C)-(IV), (D)-(II)
(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(lI)  (4) (A)-(IV), (B)-(llN), (C)-(1), (D)-(11)

Ft-1 % =y g1 =1 faes Hit

1 FHII

T TE T
(A) TEd . () wifes as
(B) 2.0 (I) &R Fed 7 5 foTu $9a01e F1 3
(C) =93.0 (1) 3% 95 1 599 % forw e 6i 78 s
(D) =ff.=m s (IV) st a9

Fr= fou o fasedt @ w91 3w w1 9 FHifaw

(L) (A)-ID. (B)-AV). (C)-(I). (D)D)
(2)  (A)-IID. (B)-(D). (C)-(IV). (D)-(II)
(3)  (A)-ID. (B)-IV), (C)-(D). (D)-(I1I)
(4 (A)-IV). (B)-(IID). (C)~(D). (D)-(ID)

[Question ID = 3596][Question Description = Q35_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13847]
2. 2 [Option ID = 13848]
3. 3 [Option ID = 13849]
4. 4 [Option ID = 13850]

31) Given below are two statements :

Statement | : Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

i 31 #o faw w E

Fe (I) : T TEAN W WAEHE UEE S H FEu-T & Su-"g JEes - WO

TS &



o (I0) : HHEE TR, -5 # f99 ° g 2l

IWF T FATAE °, = @3 M0 FEeT § | Wl 39 w1 99 e

(1) =3 (1) 31 (1) 3+ aeF &

(2) =y (1) F (1) 3T 379 &

(3) =9 (1) ucg 2, wifes w94 (ID) s1ge7 2

(4) = (1) FEcA 2, W w99 (1) Je7 7

[Question ID = 3597][Question Description = Q36_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13851]
2. 2 [Option ID = 13852]
3. 3 [Option ID = 13853]
4. 4 [Option ID = 13854]

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

fr=ferfas 9 @ %= @1 39 30 i @z i amar I fGva & sew 9% 'n-ag-Sa-gwE T Hi
Tfshan A Heiw B 7

o

(1) A (2) 4ra
(3) e (4) TE-37=

[Question ID = 3598][Question Description = Q37_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857]
4. 4 [Option ID = 13858]

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the SDGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

4= 2wy 2T U 2 ;. uF #iHFud (Assertion A) % ®9 H fetEd & df EHTFMW (Reason R) &

TTHF (A) Hymit T we (|25 ) i min 27 v T e )

F (R) : FE TH.SLH. waEEg B

SR FUA F AT 9, A B T fawen § 9 meE Suge I 6 59 Fiia

(1) (A 3 (R) gH1 @@t # 317 (R). (A) FF wdt =mean 2

(2)  (A) 3 (R) A WE E, ST (R), (A) FT HE = 965

(3) (A= B, < (R) @8 781 &

@) (ATATE R, A ®) TR

[Question ID = 3599][Question Description = Q38_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13859]
2.2



[Option ID = 13860]
3.3

[Option ID = 13861]
4. 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment.

Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

o

Hr %1 e oy e # : uw afiEes (Assertion A) % ¥ # foifma @ gm0 <mF FEW (Reason R) F

=Y
AR (A) : THTA 3R TFE F T F TEERE SR AEgay meeaas-aa S 6
x (& (s [ %
EE AT H 9EAlad =/ 1347 & |
F (R): AT F AAE H 7 T I Ee siEae 2

SYIE HAA S H, A6 150 T el 3§ WA S =hA i

(1) (A R (R) A T4 % 3R (R). (A) F 78 =men 2

(2)  (A) 3R (R) TH =9 E, S (R). (A) B wE = T# 2

(3) (AT 7, @A (R) 7 o950 2

@ (A) == TE 2, R (R) T E

[Question ID = 3600][Question Description = Q39_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13863]
2.2

[Option ID = 13864]
3.3

[Option ID = 13865]
4. 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) - 57% (2) -~ 42%
(3)~37% (4) ~ 28%

(1) ~ 5T7% (2) ~42%
(3) ~ 37% 4 ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13867]
2 [Option ID = 13868]
3 [Option ID = 13869]
4 [Option ID = 13870]

A W N -



36) Which of the following is most effectively promoted by Globalisation among the societies?
(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

frefefas & F15 W1 959 297 9 § T948 BY § Iy 7g w@atda R o T 2

(1)  ©Fa AT g7 (2) F HEFOF qo
(3) & (4) wTEE-FHEA

[Question ID = 3602][Question Description = Q41_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13871]
2 [Option ID = 13872]
3 [Option ID = 13873]
4 [Option ID = 13874]

A w N =

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors

ot = =t vm, = adeE B -

(1)  =aTeE ST g2 iy (2)  ==TEE §EE wiss ey
(3)  HeZel 9IS HTE HiSS ThiE (4) wHise 9IS HE Uegel TI-HH

[Question ID = 3603][Question Description = Q42_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13875]
2 [Option ID = 13876]
3 [Option ID = 13877]
4 [Option ID = 13878]

A w N =

38) COVID-19 acronym stands for
(1) Corona Virus Disease 2019
(2) Corona Virus Disease strain 19
(3) Corona Virus Disaster 2019

(4) Corona Virus Disease 2020

FifaTE-19 =1 gaee 2 -

(1) =T arstE Sie 317 2019

(2) AT AT e 21 19

(3) FHAET aT7H {5t 317 2019

(4)  =AET aEEE fediE @ 2020
[Question ID = 3604][Question Description = Q43_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13879]
2.2

[Option ID = 13880]
3.3

[Option ID = 13881]
4. 4

[Option ID = 13882]

39) NITI Aayog is
(1) National Institution for Transforming India (2) National Institute of Technology Integration
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation

Fifa (NITL) =340 =1 Ao 2 -

(1) v s=ege Bz sfea



(2) e SEAEgE AT SEeTEl 2

(3)  79FH TEfHE ATF SR S

(4)  FvHd sEEgE ATF gEEETE & SETH

[Question ID = 3605][Question Description = Q44_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13883]
2. 2 [Option ID = 13884]
3. 3 [Option ID = 13885]
4. 4 [Option ID = 13886]

40) Match List | with List Il :

List I Listll

(Days Celebrated) (When)

(A) Earth Day (l) 24 January

(B) UNO Day (Il) 5th June

(C) Environment Day (lll) 24th October

(D) International Day of Education (V) 22nd April

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(ll1), (C)-(I1), (D)-(IV)  (2) (A)-(IV), (B)-(lll), (C)-(1), (D)-(Il)
(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(lI1)  (4) (A)-(IV), (B)-(ll1), (C)-(I1), (D)-(1)

FHt-1 % =19 g=-11 =1 faem =it
THlI FH-11
feam faeft
(A) 9ei-Team I 24 Had
(B) |3 Ty wY fEaw In s
(C) waTER-Tgam (IIT) 24 HFW
(D) =g forem foam (IV) 22 =18

Frt fou 7o fomei § © wE 3 1 =99 it

1) (A-D. (B)-AID. (C)-(I). (D)-(IV)
@) (A)-IV). B)-(III), (C)-(I). D)-1D)
@) (A)-AD. B)-AV). (O)-I). (D)-IID
@) (A)-IV). B)-(IID). (C)-(1D). (D)-(I)

[Question ID = 3606][Question Description = Q45_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13887]
2. 2 [Option ID = 13888]
3. 3 [Option ID = 13889]
4. 4 [Option ID = 13890]

Topic:- 3 Philosophy_B

1) Read the passage and answer the following questions:-

In one sense it must be admitted that we can never prove the existence of things other than ourselves and our
experiences. No logical absurdity results from the hypothesis that the world consists of myself and my thoughts and feelings
and sensations, and that everything else is mere fancy. In dreams a very complicated world may seem to be present, and
yet on waking we find it was a delusion; that is to say, we find that the sense-data in the dream do not appear to have
corresponded with such physical objects as we should naturally infer from our sense-data. (It is true that, when the physical
world is assumed, it is possible to find physical causes for the sense-data in dreams: a doorbanging, for instance, may cause
us to dream of a naval engagement. But although, in this case, there is a physical cause for the sense-data, there is not a
physical object corresponding to the sense-data in the way in which an actual naval battle would correspond.) There is no
logical impossibility in the supposition that the whole of life is a dream, in which we ourselves create all the objects that
come before us. But although this is not logically impossible, there is no reason whatever to suppose that it is true; and it is,
in fact, a less simple hypothesis, viewed as a means of accounting for the facts of our own life, than the common-sense
hypothesis that there really are objects independent of us, whose action on us causes our sensations.



forgaifeilRaa srerior ol eareIgdd UG 3D LR R Y 318 groll @ = I ¢

o 3ref 3 33 sraeA DR v Sirel anfdu b s Fari SiiR s1uol siopdl @ siferf¥ed fpfl avg @ sif¥daca @1 yaida oiél @2 Add & 39
gradedell & SPIA F3RI 3R AR Rari 3k HIgeIrsil 3k AdcoIIsiiA F6ll 3, 3R drbl Id BB Al Peyoll 3, A DI AP dqPIU6T I8l
formerar 3 AAueil 3 ves aga & sifee AAR Yelia a8 Adbar 3, siiz b2 oft Sremel uR 3 urd 3 s a6 v 9t am; srerfa, s urd 3 s Faver d s
Aell - AT 3 a8 Hiferd avqgaii A el o8l Wrar 3, SII b 9 Fannfie U A 31uol Adel - A A IoHlol cPlel dIfdu (U I 3 fop, s/
siifers gform &t weuotr &l it 3, Al Uil 3 Acloll - e @ 9ifeIcd BRUIl BT UAT CIPIIGI A 3: 3G D o718, U GIdrel Fcdciol A 53t
i3I0l JoNS DI AUl SXol bl Bic Apar 3 cifdpol aIciifdp, 33 AWK d , Adoll - AL D e v siifere ®RvI 3, BT a6 A v arafd®
SIRTGII g @ 3IGIU BI°M, I A6 2 AcToll - AT D 3HGIU DIS HHiferd avq ofdl 3) 3 3IGIATel A DI$ i sRivadr o8t 3 6 g1 Sfiaer &
U AU 3, fSR13 33 3ol ARG 3Tl drell Asil a¥qaii Pl g Folid & TAfpol AU As AIfSd WU A 3RING ofdl 3, b 91l AUz HAlelol DI DI
DRYT o3l & b a8 34 3; 3R As, arad 3, U D Jd ufsdcue 3, ORI AR UGl Siidel @ del &l a6 & 10 veb ATerer & WU 3 Sar
SIIAI 3, SEfcp ARG Silel Bl ufedcuet &l defell d aR<dd 3 &IRI Fdcddq d3du &, floldl DRArs ARl JAAGoII3il BT DRUT oIl &

The view that “the hypothesis that the world consists of myself and my thoughts and feelings and sensations, and that
everything else is mere fancy.” is compatible with which of the following doctrine/s?

A. Solipsism

B. Idealism

C. Phenomenalism

D. Naive Realism

5 ferR forgsiferiaa 3 A fopor-fopol Rigidl @ 3roeu ofdl 3 fb " A8 yraweysll &b SPIA H3RI 3R 32 f[ar] 3iik Hdl 3R AdcolsiiaA ool 3
3R u1E o5 316w and aeuon Ay 3 "7

A 318 a1 arg

B. y=rr arg

C. z9u gud a6

D .15t genelarg

[Question ID = 5940][Question Description = S2_qSNz_PG_PHL_Q91]

A, B and D only/@aer A, B 3iiz D [Option ID = 23223]
A, B and C only/dact A, B siiz C [Option ID = 23224]
B, C and D only/@aar B, C afiz D [Option ID = 23225]
A, C and D only/daer A, C 3iiz D [Option ID = 23226]

A WN -

2) Read the passage and answer the following questions:-

In one sense it must be admitted that we can never prove the existence of things other than ourselves and our
experiences. No logical absurdity results from the hypothesis that the world consists of myself and my thoughts and feelings
and sensations, and that everything else is mere fancy. In dreams a very complicated world may seem to be present, and
yet on waking we find it was a delusion; that is to say, we find that the sense-data in the dream do not appear to have
corresponded with such physical objects as we should naturally infer from our sense-data. (It is true that, when the physical
world is assumed, it is possible to find physical causes for the sense-data in dreams: a doorbanging, for instance, may cause
us to dream of a naval engagement. But although, in this case, there is a physical cause for the sense-data, there is not a
physical object corresponding to the sense-data in the way in which an actual naval battle would correspond.) There is no
logical impossibility in the supposition that the whole of life is a dream, in which we ourselves create all the objects that
come before us. But although this is not logically impossible, there is no reason whatever to suppose that it is true; and it is,
in fact, a less simple hypothesis, viewed as a means of accounting for the facts of our own life, than the common-sense
hypothesis that there really are objects independent of us, whose action on us causes our sensations.

forgotferRad srerior bl eAreIgdd UGd: 3D SMIEIR TR Y 318 gooil @ I I :

o 3ref 3 390 39 PR b= Sirel anfdu b a1 Fari SilR s1uol siopstdl @ siferf¥ed bl avg @ silara @1 yanldE ol &2 A>d & 3
gradeudl 5 s J3RI iR IR fRart siiz sraensil siiz AdgesiiA gl 3, 31k dardbl A T Al Bl 3, A DBIF AIfdPd IgdITeT oIl
formerar 3 gl 3 v Fga 8l SIfed AAR yedla a8l Apar 3, 3iiz fib2 o Sl uR 3 urd 3 o 96 uo 991 o 3rerfd, A urd 3 fob avet d s
<Gl - 1 & as Hiferp avq3il A el oidl |ar 3, SIAT b &3l FarIfa 3U A 36l <Adel - e A 3ioldTel el dIfde (JUs A< 3 b, S
siifers gform &t weuo &t siedl 3, A Ausil 3 Adel - aea B $iiftis BRI BT Udl TPII6l WA 3: 351601 B férg, T cearsl FcEcre A it
GliRIGl HONS DI AUGI GHol DI fIrcT Adar & cifdpal srctifcs, 33 AW A , Adell - AT D [ v sifdrd PRI 3, BRI M6 A v ardafdd
SIRTGII g @ 3MoIU B, I A6 A AToll - AL D 3HeIU DIS siiferd az<g o1él 3) A 3MoLHIel I P aAIfSd sRisaar o8t 3 6 ggr Sitaer &
UP AUC 3, RT3l 3 31Uo! Aol 3MTol arcll it a3l B Wg Tl 3 Afdpol Azl A6 AfPE WU A 3Rid oidl 3, b2 91t A6 HArelol BT DI
DRI o1&l 3 b W16 a4 3; 3R Us, ar«ad d, T BH IR URRdcUd 3, BRI 33N Ul Siias @ aedl &l s1viel @ e v ATt & WU i s3I
SIrdI 3, SIdfce A1HIGA Siiel &I uf¥ascusit &l detoll A araa # a1 Fddd a¥du 3, Riordl drRars sardl Adgelsii I BRI Joidl 3

Which of the following philosopher/s could possibly be attributed with the view - “In one sense it must be admitted that we
can never prove the existence of things other than ourselves and our experiences.”? Consider the following options and



choose the most appropriate option given thereafter.

A. Berkley
B. Descartes
C. Hume
D. Locke

Choose the most appropriate answer from the options given below:

forgoifeiRaa & A dlar dlal A groffordl o1 Asgce Aad: A fdarR A 8l Adar g b "vas sref A 3A a9 FdiwR e S wfdv &6 a1 Fa=i
3i1= 3ruol 3ol & sifeifyed fip=ft avq & 3iR¥+dca @1 Yenfdra odf w2 Jrma 3 "7

A.s@a

B.3mret

C.aa

D.dis

il fou s1u fyapeul 3 21 & 3= goi ¢

[Question ID = 5941][Question Description = S2_qSNz_PG_PHL_Q92]

A, B and D only/@aet A, B siiz D [Option ID = 23227]
A, B and C only/@aet A, B iz C [Option ID = 23228]
B, C and D only/a@5aa B, C sfiz D [Option ID = 23229]
A, C and D only/daer A, C iz D [Option ID = 23230]

A WN -

3) Read the passage and answer the following questions:-

In one sense it must be admitted that we can never prove the existence of things other than ourselves and our
experiences. No logical absurdity results from the hypothesis that the world consists of myself and my thoughts and feelings
and sensations, and that everything else is mere fancy. In dreams a very complicated world may seem to be present, and
yet on waking we find it was a delusion; that is to say, we find that the sense-data in the dream do not appear to have
corresponded with such physical objects as we should naturally infer from our sense-data. (It is true that, when the physical
world is assumed, it is possible to find physical causes for the sense-data in dreams: a doorbanging, for instance, may cause
us to dream of a naval engagement. But although, in this case, there is a physical cause for the sense-data, there is not a
physical object corresponding to the sense-data in the way in which an actual naval battle would correspond.) There is no
logical impossibility in the supposition that the whole of life is a dream, in which we ourselves create all the objects that
come before us. But although this is not logically impossible, there is no reason whatever to suppose that it is true; and it is,
in fact, a less simple hypothesis, viewed as a means of accounting for the facts of our own life, than the common-sense
hypothesis that there really are objects independent of us, whose action on us causes our sensations.

forgatferRaa srerior ol eAreIgdd UGd: 3AD 3MIEIR TR Y 318 gooil @ = S :

o 3ref 3 321 39 PR b= Sl anfdu b a1 Fari SilR s1uol siopstdl @ siferf¥ed [pfl avg @ silRara @1 g« ol &2 ADd & 3
graadeudr {5 s JERY iR IR At siiz sraesil siiz AAdgensiiA gl 3, 3R ardbl A T Al Bedell 3, A DBIF AIfdPd IgdIaeT oIl
formerar 3 gl 3 v dga 8l SIfee FAAR yedla a8l Adar 3, 3iiz fib2 91 SIee! uR 3 urd 3 o 96 uos 49t o 3rerfd, s urd 3 b ¥aver d i
<Gl - 71 & a6 Hifer avq3il A et oidl |dl 3, SIAT b &3l FarIfa 3U A 36l A6l - e A 3foldTel el dIfde (JUs A< 3 b, S
siifers gform &t weuot &t siedt 3, A Ausil 3 Adel - dea & iifcis BRI BT Udl cTioll WA 3: 351601 B férg, T cears FcEce A it
GlIRIGI OGNS DI AUGI SHol DI fIrcT ADar & cifdpal arctifcs, 33 AW A , Adell - AT D e v Hifdre PRI 8, BRI M6 A v ardafdd
SIRTGI g @ 3MGIU B, I A6 A AToll - AL D 3UeIU DIS siiferd az<g o1dl 3) A 3MoLAHIeT I PIE AIfSd sRisadr o8t 3 6 ggr Sitaer &
UP AUC 3, fOrR1dl 3 31Ul Ao 3MTol arcll it a3l B Wg ToId 3 Aftpol A=l A6 ARBE WU A 3Risd oidl 3, b2 9ft A6 HArelol BI DI
DRI o1&l 3 b AIe a4 3; 3R Us, arad 3, T DA IR URdcUd 3, ORI IR Ul Siidsl @ aedl &l sviel @ e ves ATt & WU i s3I
SIrdI 3, SIdfce A1HIGA Siiel &I uf¥ascusit &l detoll d araa # a1 Fddd a3du 3, Riordl dRars sardl Adgelsii I BRI Joidl 3

From the last sentence of the paragraph what could be possibly inferred about the overall philosophical position of the
author?
$3 SENi9l @ i araRa A e @ creiform faar @ a1 3 o= rofdiol v Sir JAddr 3 ?

[Question ID = 5942][Question Description = S2_qSNz_PG_PHL_Q93]

1. The author is arguing against scepticism in favour of possibility of knowledge/crads sirel &t Jesirdo @ uet 3 ARG D f[AFg ad S Zat . [Option ID =
23231]

2. The author is arguing against realism in favor of idealism/cRas® yrrrarG @ ust 3 aerelae @ fieg a® ¢ 18 . [Option ID = 23232]

3. The author is arguing in favor of scepticism/cRa® i9rmarG @ ust 3 a® g @1 & . [Option ID = 23233]

4. The author is merely suggesting that skeptic’s position is insurmountable/crac dact e JYsma S a1 3 b dorT arct & Beufer gefear 3. [Option ID = 23234]

4) Read the passage and answer the following questions:-

In one sense it must be admitted that we can never prove the existence of things other than ourselves and our
experiences. No logical absurdity results from the hypothesis that the world consists of myself and my thoughts and feelings



and sensations, and that everything else is mere fancy. In dreams a very complicated world may seem to be present, and
yet on waking we find it was a delusion; that is to say, we find that the sense-data in the dream do not appear to have
corresponded with such physical objects as we should naturally infer from our sense-data. (It is true that, when the physical
world is assumed, it is possible to find physical causes for the sense-data in dreams: a doorbanging, for instance, may cause
us to dream of a naval engagement. But although, in this case, there is a physical cause for the sense-data, there is not a
physical object corresponding to the sense-data in the way in which an actual naval battle would correspond.) There is no
logical impossibility in the supposition that the whole of life is a dream, in which we ourselves create all the objects that
come before us. But although this is not logically impossible, there is no reason whatever to suppose that it is true; and it is,
in fact, a less simple hypothesis, viewed as a means of accounting for the facts of our own life, than the common-sense
hypothesis that there really are objects independent of us, whose action on us causes our sensations.

forsaiferRaa srerior ol eAroIgdes UGm: 3AD TEMR UR Y 31T Ygoll & IR S ©

wop 31¢f 3 37 a9y FIDR fep= Sirell @nfdu b 81 Farl 3iiR 3ruol siopHdl @ 3ifeifsTd il avq @ sii¥deca @I yaIiId oiél @2 ADd 8 A
gradeuelr {5 s #3RY iz IR At siiz urqensil siiz AdgensiiA ol 3, 31k ardbl A BB Al DUl 3, A DBIF AIfPD AJDITT oIt
formerar 3 Auell 3 v dga & sIfee AAR yedia 8l Adbar 3, 3iiz fib2 of SIewel uR & urd 3 e a6 uo g1 am; 3rerfd, sd urd 3 e Faver # sit
<ol - 71 3 d6 Hifere arqgil A Ad oidl I 3, ST b &3l Farfie 3U A 36l Adel - A A 3ioldlel cPllell dIfde (s d 3 fop, S
sfifers gform &t et & st 3, dl AAueil 3 Aol - aea @ Hifrs BRIl BT UdT CPIIG WA 3: 3SIEWT D 018, Ud AT Fcciol A il
GIIRIGl PONS DI AUGI oHol DI fIrcT APar & cifdpal sretifcs, 33 AR 3 , Adel - AT D fow ve siffrd PRI 8, BRI M A o ardafdd
GIRTGl g D 3HeU BB, 3 A A Adoll - AT D 3oU DI 9iferd avq o1dl 3) 31 3IIHIel A DIF AIfPd RisIad o1&l 3 b g1 Sfiaet &
U AYGI 3, BRI 331 316l ARGl 3MTol arcil il a3l Bl e Folldd 3 AAfpal A=l As AIfPd WU A 3RING odl 3, b2 9l A6 ATl BT B
DRYI oIl 3 b a1 14 3; 3R A6, araa 3, Ub BAH Il uldcyuol 3, RY AR 31uol Siidet @ dezil &l svrel & 1w Uas A1ereT @ WU & Swar
SN 3, SIAfdp AT 3ol bl uf¥aeuetr & gefoll d arraa i saRI Fadq a¥dqu 3, Rierdhl drar sardl AdceIsdl BT BRI Folcdl 3

The argument -“There is no logical impossibility in the supposition that the whole of life is a dream, in which we ourselves
create all the objects that come before us.” is also presented in which of the following text of Philosophy?

gofel 91 Dl fepa gram df sl Uz ads 3 fb--"As JAIelol 3 DI AIfPD SRIFHIRIAI o181 & b AFYUi Slidel v Fatel 3 SRIH 8 Far=i Iof il
a¥d3il I Pslol DI  FAR AAYT 31 & "

[Question ID = 5943][Question Description = S2_qSNz_PG_PHL_Q94]

Discourse on Method/f&¥¥t sifer dters [Option ID = 23235]

An Essay Concerning Human Understanding/ et u31 woiiofal gJerel siseecisar [Option ID = 23236]
. A Treatise of Human Nature/ar ¢iésr sifw giet o= [Option ID = 23237]

A Critique of Pure Reason/a3r fipéle sifts iz 3stet [Option ID = 23238]

A w N -

5) Read the passage and answer the following questions:-

In one sense it must be admitted that we can never prove the existence of things other than ourselves and our
experiences. No logical absurdity results from the hypothesis that the world consists of myself and my thoughts and feelings
and sensations, and that everything else is mere fancy. In dreams a very complicated world may seem to be present, and
yet on waking we find it was a delusion; that is to say, we find that the sense-data in the dream do not appear to have
corresponded with such physical objects as we should naturally infer from our sense-data. (It is true that, when the physical
world is assumed, it is possible to find physical causes for the sense-data in dreams: a doorbanging, for instance, may cause
us to dream of a naval engagement. But although, in this case, there is a physical cause for the sense-data, there is not a
physical object corresponding to the sense-data in the way in which an actual naval battle would correspond.) There is no
logical impossibility in the supposition that the whole of life is a dream, in which we ourselves create all the objects that
come before us. But although this is not logically impossible, there is no reason whatever to suppose that it is true; and it is,
in fact, a less simple hypothesis, viewed as a means of accounting for the facts of our own life, than the common-sense
hypothesis that there really are objects independent of us, whose action on us causes our sensations.

forsaiferRae srerior @l eArIgdd UGm? IAD TEMR UR Y 318 Ygoll & Ik Sk ©

uep 3ref 3 33 sragd iR = Sirer @nfd3v fob a1 Fari 3iiR sruol sioprdl @ siferfy s bl avq @ sif¥dca @1 ygnfra oéf @2 Ima 3 s
gIadcUell b SPId ISR 3R 3R ARl 3R siraersil siiz dcolrsii A Jolf 8, 3ii? arbl Ad @B A DYl 3, A DIS Alfdd dqgdIde olél
formerar @ AUl # U §ga & SifedT AAR Yedla 8l Addr 3, 3ii= b2 i Sielol UR A urd 3 [ a6 o a1 a1, 31eid, &3 urd & b Fave 3 Sl
eIl - AT 3 a8 Hiferd avqgaii A el o8l Wrar 3, SII b 9 Fanifde U A s1uol Adel - A A IoHl6l ol dIfdu (U I 3 [, s/
siifers gform &t weuotr &l it 3, dl Uil 3 Adolr - e @ 9> BRUIl BT UAT CIPIIGI WA 3: 3SIEWT D {018, TP ISl Fcciol A st
GIIZoll JoNS DI AUl Sxol Pl Bicl Apar 3 cifdpal aIciifdp, 331 AWK d , Adell - AL D e v siiferd dRuI 3, KT a6 A v arafd®
SIYell Yg @ 3eU BIPI, 3A A A Adloll - AT D 3MolU DI Hiferd avq o1dl 3) A Al A DI Al 3RANad o8l 3 &b gar sfiaet &
U AU 8, fSRI3 3 3ol AHol 31Tl drell A3l a3l Pl I Folld & TIfbol AU As AIfBD WU A IRING ofdl 3, b2 91l AUz Alelol DI DI
DRYI o1&l 8 [ A8 A 3; 3R As, aRAd #, T DA I DUl 3, BRI IR 31Ul Siidel B el bl 36l & 618 U ATeeT D WU A SHT
SIII 8, STdfés AT Siiol @l uf¥cseustr &t detell 3 araa 3 g3R1 Fadq a¥du 8, Rrerdl eRars sl AdGeI3il dI BRI doidl 3

The statement - “there is a physical cause for the sense-data” is compatible with which of the following philosophical
position/s?



A. Naive Realism

B. Representative Realism
C. Idealism

D. Solipsism

Choose the correct answer from the options given below:

Iz el foraiferiRaa gioifore R & srerwsu & fip-" sfoga - ca @ silfom drUT a8 "
A. Jzst genelarg

B. yfeiforemecae aenelarg

C.yrrrac

D . s

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 5944][Question Description = S2_qSNz_PG_PHL_Q95]

A and C only/dbaet A siiz C [Option ID = 23239]
A and B only/dact A siiz B [Option ID = 23240]
B and D only/dsaet B siiz D [Option ID = 23241]
C and D only/a@aet C sfiz D [Option ID = 23242]

A W N -

Topic:- 3 Philosophy_C

1) Read the passage and answer the following questions:

All the objects of human reason or enquiry may naturally be divided into two kinds, which are Relations of Ideas, and
Matters of Fact. Of the first kind are the sciences of Geometry, Algebra, and Arithmetic; and in short, every affirmation
which is either intuitively or demonstratively certain. That the square of hypotenuse is equal to the squares of the two sides
is a proposition which expresses a relation between these figures. That three times five is equal to the half of thirty,
expresses a relation between these numbers. Propositions of this kind are discoverable by the mere operation of thought,
without dependence on what is anywhere existent in the universe. Though there never was a circle or triangle in nature,
the truths demonstrated by Euclid would forever retain their certainty and evidence. Matters of fact, which are the second
objects of human reason, are not ascertained in the same manner; nor is our evidence of their truth, however great, of a
like nature with the foregoing. The contrary of every matter of fact is still possible; because it can never imply a
contradiction, and is conceived by the mind with the same facility and distinctness, as if ever so conformable to reality.
That the sun will not rise tomorrow is no less intelligible a proposition, and implies no more contradiction than the
affirmation, that it will rise. We should in vain, therefore, attempt to demonstrate its falsehood.

forgaifeilRaa srerior ol eareIgdd UG 3D SMIER R Y 318 groll @ Iz I ¢

Jlord gfs a1 srayun o Asfl fereril @l <Y gopRI A dier S Addl 3 -YRRIl @ AFdod AR avq Rafer . uscl YR @ siasia sfdifer , diseifora
3li? 3i 31T JHgua: YeId Yfersirol Sl AT dl 3fod: YSIcHAD Al foReuvncdrd U A i 8 , 3ma 3 . vt o1 oot o1 Yl @ aof & SRR alear
3 -8 U VAT a@ g 8 Sl ol MDIeRIl D dia AFdcer Dl MRS Bl 3 .uid I diel el il D 318l D TRIR BNl 8 -AS Fol AT D
dier AFFeE DI IR DT 3 .33 PR D dD dIad Dl FIsl ddel Wl feramr Afgar GRI & &I i1 Al 3 Sl gnvs @ ol off sil¥aea uz
forslz ord w1 & .urErftr yopfer 3 wdl oft ger i feparet o1dl 3 , b2 off Afdrers GrRr goIfu ST e Fdton sruott forfiaar iz e dole &1 . avg
Refer St #oa giy @ g fawx 3, ot 52t yoor forf2ra ol fopen siran 3, of 3 Jordhl AIAT T R URT AL & a1 fSidet sit s1sret 8t

e eeennnteeeeeeteennnnnaaann fep=tt off ag Rearfer o1 foreliar 3ifdr off Jivia @ ;arIifcp 33131 RRIEmeIRT BT Yg ofdl 8l JAmar 3 ,30R ol 3 3ol 3t
PO 317 FUsCdl A BVl BT & Hlell A AATf D AT IS B . As AT [ et RIS oISl Bl - A araRI 331 Yfersirol fop et il
BT --3A DA JoEl 3R siftrp FRIemiIRT o8l 3.01a: 33 el 8 s3I FB3ua I golfel BT YART el aIfd .

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Though there never was a circle or triangle in nature, the truths demonstrated by Euclid would forever retain
their certainty and evidence.

Reason R : Propositions of this kind are discoverable by the mere operation of thought, without dependence on what is
anywhere existent in the universe.

In light of the above statements, choose the correct answer from the options given below

il St werel Ru s1e 3@ wap @t siftrperet (A) 3iiR g3 @) aas (R) @ar srm 3

sifdrperet (A) =it yapfer 3 w4l sit ga A foyaret o1ét 3,152 off Afrers @RI gorfu a1 AT Fdton el forfiadar siiz Fme gorre s .
ad (R) 1339 yor @ ao araa &f dist daa WAl e Afign gr1 8 & s Aol 3 5l genvs o il off sif¥aca ur fonlz ol @ 3
SR> DGl D 3AIelid A forvotifcpd fameal 3 A A8 IR ol ©



[Question ID = 5945][Question Description = S2_qSNz_PG_PHL_Q96]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) clali 3@ 8 3l (R), (A) &I 3@l =ir=n & [Option ID = 23243]

2. Both A and R are true but R is NOT the correct explanation of A/(A) 3z (R) cleil 21t & weag (R), (A) &l 3t e oidt & [Option ID = 23244]
3. Ais true but R is false/(A) 2@t & weoq (R) @ orét & [Option ID = 23245]

4. Ais false but R is true/(A) 3@t oiét & uzeqg (R) 3@t & [Option ID = 23246]

2) Read the passage and answer the following questions:

All the objects of human reason or enquiry may naturally be divided into two kinds, which are Relations of Ideas, and
Matters of Fact. Of the first kind are the sciences of Geometry, Algebra, and Arithmetic; and in short, every affirmation
which is either intuitively or demonstratively certain. That the square of hypotenuse is equal to the squares of the two sides
is a proposition which expresses a relation between these figures. That three times five is equal to the half of thirty,
expresses a relation between these numbers. Propositions of this kind are discoverable by the mere operation of thought,
without dependence on what is anywhere existent in the universe. Though there never was a circle or triangle in nature,
the truths demonstrated by Euclid would forever retain their certainty and evidence. Matters of fact, which are the second
objects of human reason, are not ascertained in the same manner; nor is our evidence of their truth, however great, of a
like nature with the foregoing. The contrary of every matter of fact is still possible; because it can never imply a
contradiction, and is conceived by the mind with the same facility and distinctness, as if ever so conformable to reality.
That the sun will not rise tomorrow is no less intelligible a proposition, and implies no more contradiction than the
affirmation, that it will rise. We should in vain, therefore, attempt to demonstrate its falsehood.

fogotferRad srerior d eAreIgdd UG 3AD SMIEIR UR Y 318 gooil @ Iz I :

Jilora gfi a1 srayun & Asft foreril @1 1 yooRI A dier s Addl 3 -yRIl & AFdse AR avg Raftr . usd ybr @ siasia sfiifer , fiseifdra
3iiz 3icp ST HLUT: Yl YfIsiIol Sit AT Al 3fod: YSIeHD AT forReuvicad U A fOifdad a , 3 3 .avf o1 9ot <Y agemsi & 9ot B weraR dlar
3 -8 Ud VAT @ aIdRI 3 Sl sol DRI @ dia AFactl B MRS Bl 3 Ui I diel el it & Ml & WIR BT 3 -AS Fol ATABM D
dia et DI AR DA 3 .33 YPR D dd arad Ol Fisl dad Al R ifdn gr1 & & st 1l 3 Sl gonvs @ el off siaca a=
forstz o1&l wa T .arEftr yapfer 3 wdl off g a1 fepagst o1dl 3,12 ot yfdrers g1 goIlw 31w Aca sdA9N suell forfuaar siiz A8 Jolrg 3xdal . avg
Rafer st se@ gy @ g g 3, @) 2t yoor foilRia oidl fop=n stran 3, o1 3 Ierhl AIAT I 3R Ul A 3 .18 RKidot st w1srar 3t
fep2il off arq Rrerfer o1 facliar aifdr off Jva 3 ;a=iifcn 313l foRIemIT @1 Ye ofdl 81 AAmdr & , 311 #Hol 53 3eofl &
JFPIICAT 303 AT A IEUT DIAAT & Aloll FAM Aerrel o AT ABST 8l . As AL b wet xRl ordl SvN -8 dds draI 5 Yfersirol foo @wer IRifca
BT --3 B JINE 312 3iferes RRlemrRf o8t 3.31e: 73 el & 33 FIJUGT DI Golfol BT YART D6l AT .

As per the perspective of the passage, Knowledge in empirical sceinces would fall under which of the following kinds?

3 arenior @ ulgg 3 sfogamepniae fRsell 3 siel forvafcRaa 3 A v yor @ foreRr @ siqela smeen ?

[Question ID = 5946][Question Description = S2_qSNz_PG_PHL_Q97]
Matters of fact/asqg Refer [Option ID = 23247]

relations of ideas/yerii @1 Jwacer [Option ID = 23248]

Transcendental knoweldge/ smojstardia siror [Option ID = 23249]

Pure speculation/gfg uf¥weusn [Option ID = 23250]

N wN -

3) Read the passage and answer the following questions:

All the objects of human reason or enquiry may naturally be divided into two kinds, which are Relations of Ideas, and
Matters of Fact. Of the first kind are the sciences of Geometry, Algebra, and Arithmetic; and in short, every affirmation
which is either intuitively or demonstratively certain. That the square of hypotenuse is equal to the squares of the two sides
is a proposition which expresses a relation between these figures. That three times five is equal to the half of thirty,
expresses a relation between these numbers. Propositions of this kind are discoverable by the mere operation of thought,
without dependence on what is anywhere existent in the universe. Though there never was a circle or triangle in nature,
the truths demonstrated by Euclid would forever retain their certainty and evidence. Matters of fact, which are the second
objects of human reason, are not ascertained in the same manner; nor is our evidence of their truth, however great, of a
like nature with the foregoing. The contrary of every matter of fact is still possible; because it can never imply a
contradiction, and is conceived by the mind with the same facility and distinctness, as if ever so conformable to reality.
That the sun will not rise tomorrow is no less intelligible a proposition, and implies no more contradiction than the
affirmation, that it will rise. We should in vain, therefore, attempt to demonstrate its falsehood.

forgatferRaa srerior bl eAreIgdd UGd: 3AD SMIEIR R Y 318 gooil @ Iz ST :

Jlora gfs a1 srayun & Asfl freril @l <1 YRl A dier S Addl 3 -YRRIl & AFded AR avg Rafer . usd ybr @ siasia sfdifer , fiseifora
3ii? 3> ST AHEUA: YA YRISIol Sit AT Al 3fod: YSIcHD Al foReuvicad WU A forfdad 3 , 3ma 3 . avf o1 9ot St 9gsmsii @ 9ot & Terer diar
3 -UE UD VAl A dIGRI 3 Sl 3ol DRI @ dir JAddoer DI MR Dl 3 Ui DI el oIl A @ M€l D RIS BIAl 3 AT Fol AWXABI D
dicr AFFGEI DI MR DT 3 .33 PR D dd dIad Dl FIsl dae WAl feramr Al GR1 & &I S @l 3 Sl genvs @ il off silaca w=
foske orél w3 .rEftr yapfer 3 ol off ga A feperst o1dt 3 , e ot Afdrers oI gollu 31w A1 sdton sruehl forfraar sfiz 1T golre 3Ws1 . avg
Refer St @@ afy @ g fawa 3, ot sl yoor forfaa o1él fosan sirar 3, of 3 Iordbl AIAT T AR URT AL & a1 fSraot oit a1srot at



fRp2ft oft avqg Rrerfer o1 frclior aifd1 off 3iora 3 ;aRIIfp s21dl fRYemeIRT W1 Ye o8l 3l Irbar 3 ,311R ol 3 3ol &
FRIHAT iR FUTCdl A 3BT DN & AlGl FH AT D AT AT 3l . A AL [ et FRMGA oT8] BIPN -As A dIaI 3 YfeIsiiel b et IAlca
BIoI --3 @ JoIa 3R 2D FRIEm IRl o181 3.311: 391 cef 81 33D FSUST DI G9Ifol DI YRATRT Dl dIfdu .

According to the given passage Geometry is concerned with:
fou s1u srEni9r & sigpAR SAfdfer Ry wwEfia 3 :

[Question ID = 5947][Question Description = S2_qSNz_PG_PHL_Q98]

1. Matters of fact/a¥qg Refer [Option ID = 23251]

2. Relations of ldeas/yrril @ @wose [Option ID = 23252]

3. Both matters of fact and relations of ideas/a>q Reifer siiz yrril @ wwst gl [Option ID = 23253]
4. Relations between facts/aezii @ dta J@ase [Option ID = 23254]

4) Read the passage and answer the following questions:

All the objects of human reason or enquiry may naturally be divided into two kinds, which are Relations of Ideas, and
Matters of Fact. Of the first kind are the sciences of Geometry, Algebra, and Arithmetic; and in short, every affirmation
which is either intuitively or demonstratively certain. That the square of hypotenuse is equal to the squares of the two sides
is a proposition which expresses a relation between these figures. That three times five is equal to the half of thirty,
expresses a relation between these numbers. Propositions of this kind are discoverable by the mere operation of thought,
without dependence on what is anywhere existent in the universe. Though there never was a circle or triangle in nature,
the truths demonstrated by Euclid would forever retain their certainty and evidence. Matters of fact, which are the second
objects of human reason, are not ascertained in the same manner; nor is our evidence of their truth, however great, of a
like nature with the foregoing. The contrary of every matter of fact is still possible; because it can never imply a
contradiction, and is conceived by the mind with the same facility and distinctness, as if ever so conformable to reality.
That the sun will not rise tomorrow is no less intelligible a proposition, and implies no more contradiction than the
affirmation, that it will rise. We should in vain, therefore, attempt to demonstrate its falsehood.

forgeifeilRae srerior @l eAreIgd® UGd? 3D LR R YD 318 groll & 3= iU ¢

JTod g AT STy @ Ml freRIl @I 5 oI 3 |ieT ST Al & -kl @ Ao AR avg Rafer . uscl YR & siaesia sanf3ife ,diseIiora
3z 3icp ST FHeU: YA Yfersiret Sit AT Al 3fod: YSIKHD Al forsuvmcad »u A fifdia &t , 3 3 .ol @1 aof 3t yyssii @ aof & gre: alar
3 -Us Ud VAT a9 aIRI 3 Sl Sol DRIl & dia AFaetl B MRS Bl 3 . Uid BT ol el i & Ml B SRR BNl 3 -As Fol ATARM D
dia et DI AR BT 3 .33 YPR D dd ara dl Fisl dad Ul Rrar ifeen gr1 & &t st 1l 3 Sl gonvs @ el off siaca u=
forslz ol e & .uEftr yomfer 3 @8l oft gaa a1 feparst orét 3 , b2 off Yfdrers gr goIfu ST A sdton srueit forfRiaar sfiz e Jolre &1 . avg
Rrefer Sit #Ao/@ gy @ g fawx 3, @ 32l yoorR oiua o1l fopan sirar 3, of 3l Ieidl AcAAr I AR URI A1gA & .18 Ricon sit #Astor 3l
fep=il off g Rrerfer oot forelian 31fdr off Jivia & ;aRIifcs 3331 RRIETHRT BT Yg ofdl 8 Amdl 8 ,30R ol 3 Idoll 3l
JFAIAAI 33 FUscdl A BVl DIAI & HAloll AT AArk D AT &Sl Bl . Az LA b et lc o1dl Fon -8 das ara=r 39 Yfersirol foo wer Al
BT --3 DA I 312 3ifern fRlemuRf o8 3.31e: 5 el & 53d FJUGT DI Golfol BT YART Dol AT .

As per the perspective of the passage, the nature of reasoning concerning matters of fact are based on:

3 SreEni9l & ulga & SeRIR avq Rafer A At as &t ymfer fepaz smenfea 3 :
[Question ID = 5948][Question Description = S2_qSNz_PG_PHL_Q99]

Perception only/ddct geaigt [Option ID = 23255]

Inference only/dqct srgpeiret [Option ID = 23256]

Both perception and inference/geagi 3iiz st cleil [Option ID = 23257]

Relation of cause and effect only/®Rur 3z ®rf @ dfa @ g [Option ID = 23258]

A w N =

5) Read the passage and answer the following questions:

All the objects of human reason or enquiry may naturally be divided into two kinds, which are Relations of Ideas, and
Matters of Fact. Of the first kind are the sciences of Geometry, Algebra, and Arithmetic; and in short, every affirmation
which is either intuitively or demonstratively certain. That the square of hypotenuse is equal to the squares of the two sides
is a proposition which expresses a relation between these figures. That three times five is equal to the half of thirty,
expresses a relation between these numbers. Propositions of this kind are discoverable by the mere operation of thought,
without dependence on what is anywhere existent in the universe. Though there never was a circle or triangle in nature,
the truths demonstrated by Euclid would forever retain their certainty and evidence. Matters of fact, which are the second
objects of human reason, are not ascertained in the same manner; nor is our evidence of their truth, however great, of a
like nature with the foregoing. The contrary of every matter of fact is still possible; because it can never imply a
contradiction, and is conceived by the mind with the same facility and distinctness, as if ever so conformable to reality.
That the sun will not rise tomorrow is no less intelligible a proposition, and implies no more contradiction than the
affirmation, that it will rise. We should in vain, therefore, attempt to demonstrate its falsehood.



forgaifeiRad srerior ol eareIgdd UGd: 3D 3MIER R Y 318 gooll @ Iz SIfvre :

Jlord gf. A1 srayun o Asfl freril @l <1 Rl A dier S Addl 3 -yRRIl @ AFded AR avq Rafer . usd yor @ siasia sfdifer , fiseifora
3iIR 3iep ST 2HgTud: g Yfersimet Sil A1 aY sfod: YSID Al forsuvnead »u A foifdia 8 , 3nad 3 .auf @1 9ot 31 yssii D aof & a=ree dlar
2 -Us U VAT a@® araa 3 Sl ol IGIRI @ dia AFacer Bf MRS Bl & . uid oI el 3ol T & M8 & SRR BT 3 -8 Fol AU D
dier AFFeE DI IR DT 3 .3 PR D dd dIad Dl FIsl dac WAl R Al GR1 & &I S Al 3 Sl gnvs @ ol off silaca ur
forelz o1dl w1 & .ureErftr ymfer 3 ol oft g i feparer o1dt 3 , b2 off Afdrers GRr goIfw o1 Jca Edton srueit forfiaar siiz e dome &1 . avg
Refer St @@ iy @ g fawx 3, ot 52t yoor forfra orél fopen siran 3, of 3 Jordhl AAIAT T 3R URT AL & a1 idet sit s1sret at
fep2t off arq fFerfer o1 foacha sifdr off Jivra 3 ;a=iifes s3dl feRlemsra @1 ye o181 8 Addr 3,311 #iel 3 Idoll 8
IO 302 FUTCAl A SEUT DI & Aloll TR Aerrel d AT HsST 8l . AT aed b et Pilc ordl Son -8 dds dral A Yfersilol i @er IRiica
BIPI --3A DA I 3R e fRIEmRAl o181 3.311: 33 el 8l 3D FISuST DI g9Iiol DI GART Dol AT .

“That the sun will not rise tomorrow is no less intelligible a proposition, and implies no more contradiction than the
affirmation, that it will rise.” According to the passage which of the following could be most appropriate reasons for this
statement?

That both the statements namely ‘sun will not rise tomorrow’ and ‘that it will rise’ are matters of fact.
The statements ‘sun will not rise tomorrow’ and ‘that it will rise’ do not imply any contradiction.

Both the statements are conceived by the mind with the same facility and distinctness

Propositions of this kind are discoverable by the mere operation of thought.

Sow=>

S SreENiol @ IILAR forvsiferi¥aa 3 A wlel AT 5 Dol @ forg Aaiferd Iuged aw 8 Addr & ?
A. 1 ‘o iicy o1él den ' 3iik "@el Il BN’ Slell werel avg Refer 3.

B.'@er 3pfc?r s18l d1on ' 3iik "ot Ilca o1’ Sloll el A DI faRIemA o1él 8 .

C. o1 Cloll el @I Idofl & Po1HAT 3hT FuTedr A IEUT DI 3.

D.331 YR @ a@ ara bt Flsl daet frar Jfipam A & s ol 3 .

ofid fou o1 el 3 A 8t STz gt :

[Question ID = 5949][Question Description = S2_qSNz_PG_PHL_Q100]

A, B and D only/@aet A, B aiiz D [Option ID = 23259]
A, B and C only/@aet A, B iz C [Option ID = 23260]
B and C only/adqct B sfiz C [Option ID = 23261]
A and D only/a5aet A siiz D [Option ID = 23262]

A W N -

Topic:- 3 Philosophy_A

1) In Vedic tradition fire burns because:

afes uuar 3 simer Sicdl 3 a=iifeo

[Question ID = 5950][Question Description = S2_qSNz_PG_PHL_QO01]
1. It is the will of God/z& $az & sca1

[Option ID = 23263]
2. ltis a natural law/=s okRifdfem forwr 3

[Option ID = 23264]

3. There is a cosmic order /s Jjftc &t wrazen &
[Option ID = 23265]

4. There is a physical order/s sitfers @ 2

[Option ID = 23266]

2) Which one among the following is Not a means of vyaptigraha?

forgaiferRaa 3 31 Dol AT =NfFEIE DI ATerH 18l & ?

[Question ID = 5951][Question Description = S2_qSNz_PG_PHL_QO02]
1. Anvaya /3ea=

[Option ID = 23267]
2. Vyatireka/=afeR®

[Option ID = 23268]



3. Samanyalaksana pratyaksa/ 3Gt cI81vT YeRIst

[Option ID = 23269]
4. Upamana/3usiet

[Option ID = 23270]

3) By what relation the absence of duhkha exists in liberated self, according to the Vaisesikas:

JAYPI & IGIRAR delol PP MCHI A G:3 DT A BT IFacer A 3B 8 &

[Question ID = 5952][Question Description = S2_qSNz_PG_PHL_QO03]
Samavaya/Jerart [Option ID = 23271]

Samyoga/Z=iet [Option ID = 23272]

Svartiapa/¥awu [Option ID = 23273]

Tadatmya/areies [Option ID = 23274]

A WN -

4) By which sannikarsa do we perceive the absence of a pot on the ground according to Nyaya?

GIRI G9fol @ 3IRAR o1 Afsorpd RI Y3 UR ac a5 3Ia oI dieT ler 8 ?

[Question ID = 5953][Question Description = S2_qSNz_PG_PHL_QO04]
1. Samyoga/3w=iet
[Option ID = 23275]
2. Visesanata /Rxdwia
[Option ID = 23276]
3. Samavaya/Iwarr

[Option ID = 23277]
4. Samaveta Samavaya/Ierdd JeTArR

[Option ID = 23278]

5) In vedic tradition, Rtvika of samveda is called:

dfés uuer 3 ARIdS @I SBfcad o= aar ST 3.

[Question ID = 5954][Question Description = S2_qSNz_PG_PHL_QO05]
1. Brahma /g@
[Option ID = 23279]
2. Hota /&
[Option ID = 23280]
3. Adhvirya/ steqt

[Option ID = 23281]
4. Udgata/3gren

[Option ID = 23282]

6) According to the Nyaya epistemology, we perceive a snake on a rope by:

GRITI SII6l IR @ SRR 33 b PRI A R ol ad wers@ 3 ¢

[Question ID = 5955][Question Description = S2_qSNz_PG_PHL_QO06]
1. Yogaja sannikarsa /?ierst JAfcorad

[Option ID = 23283]
2. Samanyalaksana sannikarsa/3mwieeT cigivr Afootdt

[Option ID = 23284]
3. JAanalaksana sannikarsa/<iet cigivr Afcoratd

[Option ID = 23285]
4. Samyoga sannikarsa/IrieT JAfoornt

[Option ID = 23286]

7) Which one among the following is Not a cittavrtti according to Patafjala-yoga?

ucisifer Ae1 @ 31opAR forgsiferRaa 3 A wlel Rragfer oidl 3 ?
[Question ID = 5956][Question Description = S2_qSNz_PG_PHL_QO07]



A W N -

Pramana/ggmut [Option ID = 23287]
Vikalpa/fdeeu [Option ID = 23288]

. Nidra/férez [Option ID = 23289]
. Avidya/aferen [Option ID = 23290]

8) Isvarapranidhana, according to Yoga philosophy, is a kind of:

=131 G9lol @ 3[R $%aR Y[Urerel f[pIdT YR 8 :

[Question ID = 5957][Question Description = S2_qSNz_PG_PHL_QO08]

1.

Yama/=a

[Option ID = 23291]

. Niyama /formt

[Option ID = 23292]

. Asana/ smtot

[Option ID = 23293]

. Dhyana / erot

[Option ID = 23294]

9) What type of absence (abhava) is the absence of cowness in horseness according to the Vaisesikas?

JIfpl @ IIGIRR 31°d Sifer 3 SNsHfel T 3B b YbR T 3| 3 ?

[Question ID = 5958][Question Description = S2_qSNz_PG_PHL_QO09]

1.

2.

3.

Anyonyabhava / sieiieemsia
[Option ID = 23295]
Pragabhava /yqmrsma
[Option ID = 23296]
Atyantabhava/ sicroansra

[Option ID = 23297]
. Dhvamsabhava/ edzmsa

[Option ID = 23298]

10) Which one of the following is an asamavayikarana of a pot according to the Vasesikas?

JIIYDI @ IIGRFR TC DI IRIAAIRIDBRYT Diol AT 8 ?

[Question ID = 5959][Question Description = S2_qSNz_PG_PHL_Q10]

1.

Kapala /@uret
[Option ID = 23299]
. Danda/gs

[Option ID = 23300]

. Kapala-danda Samyoga /@uic-gs IRiet
[Option ID = 23301]

. Kapalasamyoga/ wurciiiiet

[Option ID = 23302]

11) In Jaina Philosophy intuitive, complete and absolute knowledge is called:

it gofol 3 sia:ysirsioda, gut 3iiz forUel Sirel a1 el SIrdr 3 :

[Question ID = 5960][Question Description = S2_qSNz_PG_PHL_Q11]
1.

Avadhi/ sraeft

[Option ID = 23303]
. Mati /afe

[Option ID = 23304]
. Kevela /d@ac

[Option ID = 23305]

4. Sruta /gp

[Option ID = 23306]

12) “When shell is perceived as silver, some real silver is actually present in that shell”. Who holds this view?



i AU ) 3T A SIAT 3 , dd drad 3 39 H1a 3 @ derel wiq uf¥eda diar 3 . "as el far 3 ?

[Question ID = 5961][Question Description = S2_qSNz_PG_PHL_Q12]

1.

2.

3.

4.

1

Sankara/giws

[Option ID = 23307]
Prabhakar/ysma2

[Option ID = 23308]
Kumarila /<gaf¥er
[Option ID = 23309]
Ramanuja/m@ojst

[Option ID = 23310]

3) Who advocates the view that Brahman is abhinnanimittopadana karana of jagat?

Iz fop2rent R 3 b 6l SP1a oI sificolfolIuGs! BRI & ?

[

1.

Question ID = 5962][Question Description = S2_qSNz_PG_PHL_Q13]
Sankara and Madhva/ i@z sl e

[Option ID = 23311]

2. Sankara and Ramanuja /i 3fe et

3

4

[Option ID = 23312]

. Sankara and Kapila /si@z siiz aftter

[Option ID = 23313]

. Madhva and Kanada/amera 3fiz @wune

[Option ID = 23314]

14) When Advaita Vedanta says that the world is mithya, what is its implication?

SId 3G dclod dadl 3 b Serd e 3 ,ad s3raT o= foifddaref 3 ?

[Question ID = 5963][Question Description = S2_qSNz_PG_PHL_Q14]

1.

World is absolutely non-existent /St yufa: freen 3

[Option ID = 23315]
. World is absolutely existent/sera guia: 31

[Option ID = 23316]
. World is both existent and non-existent /smIa i sfie Brezn Sloil 3
[Option ID = 23317]
. World is neither existent nor non-existent, but different from both. /eI of 1t 2 siiz of frean 2 ,afeds Sloil 3 foroor 2

[Option ID = 23318]

15) Atma according to Nyaya can be:

ST Gofol @ SIGIRAIR 3ICHT aRIT 31 IAhedl 3 :

1.

[Question ID = 5964][Question Description = S2_qSNz_PG_PHL_Q15]
Knower only /@aet sirar
[Option ID = 23319]

2. Known only/daet sira

[Option ID = 23320]

3. Knowledge only /@>de sirer

[Option ID = 23321]

4. Both knower and known/sirar iz s Gleit

[Option ID = 23322]

16) Which dravyas according to the Vaisesikas are sometimes nitya and sometimes anitya.

Select the correct code.

AIITDI @ IMGAR Dol AT g Dol forea Brar & 3R Dot siforewr sl 3 ©



[Question ID = 5965][Question Description = S2_qSNz_PG_PHL_Q16]
1. Earth, water, fire, air and ether only /dact gedt ,ie, aifder ,ary sfi? ambror

[Option ID = 23323]
2. Earth, water, fire and air only/@act gedt , Siet, 3ifdet 3l ary

[Option ID = 23324]
3. Earth, water and fire only/@aet gedl, St aiiz aifSear

[Option ID = 23325]
4. Earth and water only/@>det gedt siiz Siet

[Option ID = 23326]
17) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Consider them and select the correct code in the context of Carvaka Philosophy:
Assertion A : The dead body must be as much conscious as the living body is.
Reason R : Consciousness is an attribute of body.

In light of the above statements, choose the correct answer from the options given below

SiI<I ST Dol fGu 31w 8 : uwop I 3iferd (A) 3iiR g} @I ad (R) a1 arn 3

$oIUR fdFIR HISRI 3R aaie color @ oo & A8t B DI TR HIBA ©

aifdrperet (A) © ga 9RR @l 81 3aen & Adel dloll anfde fordon Siifad 9B @ .

a® (R) <ol 9RR @1 31 3 .«

SWRTP DUl B 3Irciled A forwotifcpa farpeal 3 2 A3l 3= ol ©

[Question ID = 5966][Question Description = S2_qSNz_PG_PHL_Q17]

1. Both A and R are true and R is the correct explanation of A/(A) iz (R) clali 3@ 8 3z (R), (A) &1 3@ =r=n & [Option ID = 23327]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3z (R) gleil 1t 8 weag (R), (A) &l 3t e oidt & [Option ID = 23328]
3. Ais true but R is false/(A) 2@t & weoq (R) 2@ orét & [Option ID = 23329]

4. Ais false but R is true/(A) 3@l oiét & uzeqg (R) 2@t 8 [Option ID = 23330]

18) Select the code that states the correct sequence of the following:

A. Ahinsa

B. Satya

C. Brahmacarya

D. Asteya

E. Aprigraha

Choose the correct answer from the options given below

T3t DI DI RIT BI:

A aifgan

B.arex

C.garert

D.3d=1

E.smuafsse

il fRu o1 et 3 A & 3= goi ¢

[Question ID = 5967][Question Description = S2_qSNz_PG_PHL_Q18]

1. A, B, C, D, E [Option ID = 23331]
2. A,B,D,C,E

[Option ID = 23332]
3. A, B, E, C, D [Option ID = 23333]
4. A, C, B, D, E [Option ID = 23334]

19) Select the code that states the correct sequence of the following:
A. Upadana

B. Trsna

C. Bhava

D. Jati



Choose the correct answer from the options given below

T8t DI BT Rl B3 ©
A .3ucret
B.qoumr
C.sma
D.smfer
il f3u a1 fraseul 9 A W& 3= goi ¢
[Question ID = 5968][Question Description = S2_qSNz_PG_PHL_Q19]
1. A, B, C, D [Option ID = 23335]
2. A/C,B,D
[Option ID = 23336]
3. B,A,C,D
[Option ID = 23337]
4. B, C, A, D [Option ID = 23338]
20) Consider the following and select the code acceptable to the Carvakas:
A. Karmavada
B. Bhiatacaitanyavada
C. Dehatmavada

D. Sukhavada

Choose the correct answer from the options given below:

araic g9fel I FAIDRI d¢ DI RIS B3I :

A . diarg

B.sya ddea a

C.gzIcaarg

D.g¥rarg

offa fou s1u fyeseul 3 21 & 3= goi ¢

[Question ID = 5969][Question Description = S2_qSNz_PG_PHL_Q20]

. A and B only/@act A 3iiz B [Option ID = 23339]

. A, B and C only/daer A, B iz C [Option ID = 23340]
. Band C only/@aet B aiiz C [Option ID = 23341]

. B, Cand D only/daar B, C 3iiz D [Option ID = 23342]

AW N -

21) Svalaksana according to the Buddhists is:
A. Eternal

B. Real

C. Momentary

D. Unreal

Choose the correct answer from the options given below:

digl D ofAR FACISIVI ORI 3 ©

A .omraa

B.remmef

C. gifdrm

D .remef

il 3w a1 fyaseul 9 A W& 3R goi ¢

[Question ID = 5970][Question Description = S2_qSNz_PG_PHL_Q21]



. A and B only/@act A 3iiz B [Option ID = 23343]
. Band C only/dac B siiz C [Option ID = 23344]
. Cand D only/asae C siiz D [Option ID = 23345]
. Aand D only/dacr A 3iiz D [Option ID = 23346]

A W N -

22) Consider the following in the context of Vedic philosophy and select the code indicating the correct assertions.
A. The Rtvika of Rkveda is called hota

B. Rsirna can be paid off by brahmacarya

C. Rta regulates not only natural phenomena but also heavenly bodies

D. Rta is identified with truth

Choose the correct answer from the options given below:

Al golet @ Focs J foaifeiRaa ur frar HIfSte 3iiz 8l Desil @l gotlel arel @ @I wRI6l difSte:
A 5B53c ol SBfeads BT @8l SIIAT 3

B.gerrl R >BfY SBUI &I gBRI SIT ADdar 3

C.>Bd of dadl grafere fcel afed irprofin it ot off faforafiia wzar 3

D.>pa Ica A At 3

il f3u a1 fyaseul 9 A W& 3= goi ¢

[Question ID = 5971][Question Description = S2_qSNz_PG_PHL_Q22]

A only/a>aet A [Option ID = 23347]

A and B only/dact A siiz B [Option ID = 23348]

A, B and C only/d@act A, B sfiz C [Option ID = 23349]
A, B, C and D/A, B, C siiz D [Option ID = 23350]

A w N =

23) Match List | with List Il
List | List Il

A. Vedanta ; gnowledge is a quality of atma

B. Jaina i knowledge is the essence of atmd

C. Mimarhsafiii. Knowledge is an act of atma

D. Nyaya jiv. Knowledge is atma itself
Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifsre :

oxet -1 oxht -1l

A . deia | <II61 3IedHT T U1 3
B .Siot |1, 16t 31redHT b1 AR 3
C. 3fterin Ill.5i161 31IcdT DI Dt 3
D .51 IV.5ir61 Fari 3ircan @

il fou o1e frseul 3 I A IR gom ©
[Question ID = 5972][Question Description = S2_qSNz_PG_PHL_Q23]
A -1, B -ii, C - iii, D - iv [Option ID = 23351]

-ii, B -1, C-iii, D - iv [Option ID = 23352]

A
A -iv, B -ii, C - iii, D - i [Option ID = 23353]
A -ii, B-i, C-1iv, D - iii [Option ID = 23354]

A wWw N =

24) Match List | with List Il

List | List Il

A. Viparitakhyati i. Prabhakara
B. Akhyati ii. Kumarila
C. Anyathakhyati iii. Madhva
D. Abhinavaanyathakhyatiiiv. Gautama

Choose the correct answer from the options given below:



It -l @Y 3 -1l A FAfra Hifdwe ¢

Rxeht -1 il

A . frasiarsiafer |.getrn2
B . sieRmfer Il.panfyer
C. SroRIeIRsfer Il 3mera
D . sifdrerarczremsnter V. siicqa

oif<l feu are famedl 3 A A8 3R gfore :
[Question ID = 5973][Question Description = S2_qSNz_PG_PHL_Q24]

1. A-ii, B-i, C-iv, D - iii [Option ID = 23355]
2. A-1i, B -ii, C - iii, D - iv [Option ID = 23356]
3. A-iii, B-1i,C-1i,D-iv [Option ID = 23357]
4. A-ii, B -1ii, C - i, D - iv [Option ID = 23358]

25) Match List | with List Il
List | List Il
A. Veda i. Rta is a cosmic order.

B. Carvaka [ii- Fire burns out of its own nature.

C. Vai¢esikaliii- Sabda is not a separate pramana

D. Mimamsajiv. Anupalabdhi is a separate pramanal
Choose the correct answer from the options given below:

et -1 B e -1l A g e

et - | et -1l
A.ag |.>pa Jfte @1 A &

B .arafa 1. 3131 sraeil gapfer @ sroRIR Srcredl 3
C.39f® 1. orec geres g ot

D . 3tz IV. sropuctfeer geres ggimor &

ofid f&u s1u fapeal 3 A A8l IR gfew :
[Question ID = 5974][Question Description = S2_qSNz_PG_PHL_Q25]

1. A-i, B-ii, C - iii, D - iv [Option ID = 23359]
- ii, B - i, C - iii, D - iv [Option ID = 23360]
-, B - ii, C - iv, D - iii [Option ID = 23361]
-ii, B -1, C - iv, D - iii [Option ID = 23362]

Hw N
> > > >

26) Which one of the following is the view of Vivekananda with regard to the origin of religion?

et @ Iga D Ao A fAdwIeic @1 faarR forsifciRaa # A el 3 ?

[Question ID = 5975][Question Description = S2_qSNz_PG_PHL_Q26]

1. Only in Ancestor worship/daet gdst ggr 3 [Option ID = 23363]

2. Only in nature worship/@aet yafer getr ,3 [Option ID = 23364]

3. The struggle to transcend the limitations of the senses/sfogardla glot @ fere Jad [Option ID = 23365]
4. In the conceptualization of evil/gE @ iyer1 3 [Option ID = 23366]

27) Which of the following forms of satyagraha are advocated by Gandhi?

1ieh GRI AIPE @ fdvol wul @1 erelor fopar sr 3 ?

[Question ID = 5976][Question Description = S2_qSNz_PG_PHL_Q27]

Disobedience, indirect action and non-cooperation/ sm@sir ,wlel @Rars s sRieer [Option ID = 23367]
Disobedience, direct cooperation and direct action/smasir ,yget Jsier 32 sriset [Option 1D = 23368]
Disobedience, direct action and non-cooperation/smsi ,geIst dRars iR 3rieier [Option ID = 23369]
Disobedience, indirect action and fasting/smasir ,3mcgr a¥ars siiz 3uark [Option ID = 23370]

A wWN =

28) Which of the following represents the correct ordering of ascent from mind to supermind as per Aurobindo?

foratferRaa 3 A1 ®lel AT IRIACI B IIGRIR Hol A URI FHol b 3R Sl A DI gorfar 3 ?

[Question ID = 5977][Question Description = S2_qSNz_PG_PHL_Q28]

Higher mind, lllumined mind, intuition and overmind/3caaz T ,ggg 3ot ,3ic: g 3iR sifer et [Option ID = 23371]
Higher mind, overmind, lllumined mind and intuition./3caaz @t , 3ifel 9l , Ygg It 3l 3id: yzir [Option ID = 23372]
lllumined mind, intuition, overmind and higher mind./ygg #et, 3id: Yz ,3ifer sl 3iik 3caaz #et [Option ID = 23373]
Higher mind, intuition, overmind and illumined mind./3caaz e, sid: g ,3ife aft 3ik ygg 9t [Option ID = 23374]

A WN =



29) According to K C Bhattacharya Philosophy is concerned with:
A. Transcendental consciousness

B. Objective consciousness

C. Spiritual consciousness

D. Empirical consciousness

Choose the correct answer from the options given below:

@ ¥ sgrart @ sopAR gofel o fepary Jafea 3 :

A uerdast

B.avqur® Aden

C.3nemfedres el

D .. siropifires Actorr

il 3w a1 faseul 9 A W& 3R goi ¢

[Question ID = 5978][Question Description = S2_qSNz_PG_PHL_Q29]

1. A and B only/dqct A siiz B [Option ID = 23375]

2. B and C only/@aet B siiz C [Option ID = 23376]

3. A, Band C only/dae A,Bsiiz C [Option ID = 23377]
4. D only/daer D [Option ID = 23378]

30) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R. Consider them in
the context of Philosophy of Igbal.

Assertion A : Intuition is an unanalyzable unity.
Reason R : In intuition, the knower becomes one with the known and thereby realizes it.

In light of the above statements, choose the correct answer from the options given below

oA 3t weror Re a1 & @ was @Y siftrasert (A) 3z g @) aas (R) @s1 9R0 3 sparcT @ gofor @ docel A Rar Hife.
sifdraperet (A) :3id: ysit uop sifaecorofizr Yarr 3 .

a® (R) :3ia: g d SIdr S @ AT TP 3l ST 8 3R $AD SR G Dl & .

IWRITE Percll @ el 3 foetifsa el 3 A A8 3a= got ©

[Question ID = 5979][Question Description = S2_qSNz_PG_PHL_Q30]

. Both A and R are true and R is the correct explanation of A/ (A) 3iiz (R) cloil 3@t & 3k (R), (A) &I 38l =z 8 [Option ID = 23379]

Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) gl 2t 8 weeg (R), (A) 6l 3t =een ot & [Option ID = 23380]
. Alis true but Riis false/(A) 3@ 8 weog (R) 3@t ot & [Option ID = 23381]

. Ais false but R is true/(A) 3@ oiét @ u3aq (R) &t @ [Option ID = 23382]

A WN -

31) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R. Consider them with
reference to Kierkegaard.

Assertion A : Truth is subjective.
Reason R : Truth is not in what you believe, but in how you live.

In light of the above statements, choose the correct answer from the options given below

il 3l perel R s 31 v & sifdrperet (A) 3R GIR @I ad (R) a1 SR 3 fpdens @ oce 3 frar Hifsre.
sif3rperet (A) ¥ ARDPIRD 3 .

a® (R) :31ca a6 o8t 8 i 3imu AArera 3, afe e as 3 Sit 3ima Shi 3.

IRfT Bl @ 3irclie 3 forotifea faasedl 3 A 8 = ol ¢

[Question ID = 5980][Question Description = S2_qSNz_PG_PHL_Q31]

Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) clail 318t 3 3z (R), (A) &t 36 «rn & [Option ID = 23383]

Both A and R are true but R is NOT the correct explanation of A/(A) siiz (R) gl 2@t & weeg (R), (A) 6t 3 wmeen ot & [Option ID = 23384]
A is true but R is false/(A) & @ u3oq (R) @t ordt & [Option ID = 23385]

A is false but Ris true/(A) 3@t o8l 8 weoq (R) @t 8 [Option ID = 23386]

A W N -

32) To live authentically, for Sartre, means,



AT, & 3GRIR YRIPIe %4 A Sfial o1 fdgrr 3 :
[Question ID = 5981][Question Description = S2_qSNz_PG_PHL_Q32]

To make choices unintentionally about one’s life and one’s future/fsft @ Sfiqer sl fipft & aifdrer & &R 31 siomfad 8l fdapeu getenr [Option ID = 23387]
To make choices intentionally about one’s death/fesft & a1y & ar 3t AMZear fdaseu gotorr [Option ID = 23388]

To make choices intentionally about one’s life and one’s future/fisft & Sfiqet siiz fb=ft & srfdwr & @R 9 A9 fdveu gotonr [Option ID = 23389]

To make choices unintentionally about one’s life and other’s future/fep3lt @ Sfiqer sliz fip=it @ sifdwr @ 9 3 i9n A3 Blp2 fadeu gotonr [Option ID = 23390]

A W N -

33) Consider the following statements with reference to Heidegger.
A. Innermost nature of human being is caring.

B. Human beings are essentially temporal beings.

C. The temporality of human thinking is ‘ecstatic.’

Choose the correct answer from the options given below:

3o & Hocs A PreifciRaa werel ur far bHifsre:

A . F1iora i siiaf¥es yapfer garRi o1 et 2ol 6t & .

B.31or1 siforaria: wifer 8 3 .

C.31ro1a a6t eiferesar ' sranferdt ' At 3.

offa fou o1 fyeseul 3 21 & 3a= goi ¢

[Question ID = 5982][Question Description = S2_qSNz_PG_PHL_Q33]

A only/adaet A [Option ID = 23391]

A and C only/daet A siiz C [Option ID = 23392]

C only/@aa C [Option ID = 23393]

A, B and C only/d@ac A, B siiz C [Option ID = 23394]

A WN -

34) Who among the following advocated the view that “If you withhold your assent to religious beliefs, then you will lose the
benefits that come from accepting those beliefs. And it is worse to lose the benefits than to gain the protection from erring.”

forgaifeiRaa 31 A b0l 3 iR @1 ket fopan fop "afc smu enfifep faearil @) FdieR &l @ & ,dl 31U 3 faardl ol FdieR ol Bl A

[Question ID = 5983][Question Description = S2_qSNz_PG_PHL_Q34]

. William James/faferm S [Option ID = 23395]
. Kierkegaard/féassns [Option ID = 23396]

. Sartre/arf [Option ID = 23397]

. Nietzsche/sfte [Option ID = 23398]

A w N =

35) “Our responsibility for the other is not a derivative feature of our subjectivity, rather it founds our subjective being-in-
the-world by giving it a meaningful direction and orientation.” — is the perspective of which one of the following philosophers?

"GN D fer BARI gIR¥iIFd FARI RAfTPURDdI A oPcUool faudr o181 3 ,dfcd a8 AAR I sAR cARPURDAI @I sreiguf Sorr sz Ieggzdar yglol @2
TER YgIol Bl &

[Question ID = 5984][Question Description = S2_qSNz_PG_PHL_Q35]
1. Immanuel Levinas/sdgare afdemet [Option ID = 23399]
2. Morleau-Ponty/sireff dict [Option ID = 23400]

3. Rorty/3ff [Option ID = 23401]
4. Nietzsche/sfi [Option ID = 23402]

36) Consider the following statements with reference to Kautilya.

A. The aim of the polity is the yogakshema of the subjects.

B. Curbing of the mastyanyaya within the State is advocated.

C. Yogakshema is not the responsibility of the state.

Choose the correct answer from the options given below:

Difeca @ Hoc J forarfeiRaa weell ur iR Hifste :
A .ISTofifer T eIg=1 gSiisil a1 MBIk 3.



B.3rsa @ sficR ARIGART U= 3T cloliol I Akl fovar arm 3 .

C.11P1813 @I SIfRied IS I ol 3 .

il fou o1 fyeseul 3 31 & 3= goi ¢

[Question ID = 5985][Question Description = S2_qSNz_PG_PHL_Q36]

1. A only/d@aet A [Option ID = 23403]

2. A and B only/dacr A siiz B [Option ID = 23404]

3. C only/dae C [Option ID = 23405]

4. A, B and C only/dact A, B siiz C [Option ID = 23406]

37) Upeksha, according to Kamandaka is;

DRIGH D 3IGRIR UL TAT 3.

[Question ID = 5986][Question Description = S2_qSNz_PG_PHL_Q37]
. Deliberate neglect of the situation/uf3ferfer &1 Jfdan¥a stem [Option ID = 23407]
Abandoning the decision/fswfr @1 ufscmst won [Option ID = 23408]

. Diplomatic indifference/@gsfifere 3erflerar [Option ID = 23409]

. Diplomatic impatience/@goflfei siefiar [Option ID = 23410]

A W N -

38) Which one of the following is not correct with reference to Affirmative action?

APRICAD BRI D Hocy A forgotfeilRaa 3 A o= w18 o1dl 3 ?

[Question ID = 5987][Question Description = S2_qSNz_PG_PHL_Q38]

It is intended to promote opportunities to the defined disadvantaged groups./uf¥stftia dfRra egel d sraRRI @I Aaelel s;Adt 359 & [Option ID = 23411]

It provides equal access to disadvantaged minorities. /g dferd icuRRI®! DI AHoGIAr Yalol Dl & [Option ID = 23412]

It justifies the compensation for the past discrimination. /s sidia 3t sigsma &1 sRurs @I 3Rra s & [Option ID = 23413]

It does not support opportunities on the basis of race, gender and caste. /s ot , i1 3R SHifel @ 3R W AR P Aol oidf w2ar 3 [Option ID = 23414]

A W N -

39) Which one of the following feminist theories argue for working within the structure of mainstream society to integrate

women into that structure?

forgoiferRaa 3 37 Dol AT oliarc Rigia A3l Bl ST DI FIRIERT D @il A AATDA Dol 3 31 Adoll D iR DRI B0l B adIerd dr
87?7

[Question ID = 5988][Question Description = S2_qSNz_PG_PHL_Q39]
Liberal feminism/3grardt aistars [Option ID = 23415]

Socialist feminism/ st oidtarg [Option ID = 23416]

. Radical Feminism/aifef sitarg [Option ID = 23417]

. Ecofeminism./ui¥smsiarg [Option ID = 23418]

A w N =

40) As per the politics of recognition of Charles Taylor, which one of the following it true.

arcd ek i ArIar bl Astolifer @ IR forafeRaa 3 A ®ler a1 Aca 3 ?

[Question ID = 5989][Question Description = S2_qSNz_PG_PHL_Q40]
1. It advocated politics of difference that emphasized that everyone owed recognition of the unique identity. /s3or s1adic & Irsiofifer w1 greler e St 321 a1 w2

el ol 8 b Yo RIfep [Afdme usarel ot aerar o1 e & [Option ID = 23419]
2. It advocated politics of indifference that emphasized that everyone owed recognition of the unique identity. /sl 3gRfterar &t Jsreifer w1 J@relor fdbem Sit s

I W del ol 3 [ gl Afep fdfdree usarel &l aireiar ot aRre 3 [Option ID = 23420]
3. It advocated politics of difference that emphasized that everyone owed recognition of the universal shared identity. /336! s1ca9iG 6t sl w1 Jwreler e Sit

A I W Jel &l 8 b yp cafep rdaiiar st uscrer i sierar ot are 3 [Option ID = 23421]
4. It emphasized a move from recognition to non-recognition /st dreRIAr 3 313 A=IAT I 3R 3T W qet fe=m [Option ID = 23422]

41) As per the axioms of quality of a categorical syllogism ;

gyuflerg GIRI araRT & 3UT & AMEPEA & eRIR ¢

[Quest1on ID = 5990][Question Description = S2_qSNz_PG_PHL_Q41]

Both the premises can be negative./glail 3iren? draRr sibRICHD 2l b & [Option ID = 23423]

If one premise is positive, the conclusion must be positive./=f¢ vd 3R daraR JAdRicaAD &,dl fored sibRIcAD 8l 8o [Option ID = 23424]

If one premise is negative, the conclusion must be negative/f v s ard sipRIHD & ,dl forspy srpRId &t 8ln [Option ID = 23425]

If one premise is negative, the conclusion can be either positive or negative. /e v® IR AT GIPRICHD & , Al [T ADPRIFAD AT SIPRIHD 8l ADA &

[Option ID = 23426]

AWN—\

42) Which one of the following is the correct combination of moods of the third figure?

forgsiferRae 31 3 wlel Gefl smapxfer bl Fretlconsii @1 A8t Ao 3 ?
[Question ID = 5991][Question Description = S2_qSNz_PG_PHL_Q42]



Darapti, Datisi, Felapton, Ferison, Disamis and Bocardo/g=fl, ciferll, wercler, Bferel, 3afirt siiz diwiet [Option ID = 23427]
Darapti, Datisi, Felapton, Fesapo, Disamis and Bocardo/g3l, cifeRft, werrclor, b, 3ufdrt siiz @iaret [Option ID = 23428]
Darapti, Darii, Felapaton, Ferison, Disamis and Bocardo/gczl, &, Benelel, et ,2fr1 iz diwret [Option 1D = 23429]
Darapti, Datisi, Felapton, Ferison, Dimaris and Bocardo/cil, siferll, werreletr, Bd=ia1, f3aufe siiz aiwret [Option ID = 23430]

A w N =

43) Which one of the following represents the relation between the following propositions?
All students are young.

Some students are not young.

forgsifer¥aa 3 3 wlel AT ofld U a8 awara=il @ da Asdees oI corlar 8?7

st Rreneff gar 3.

o Tl gar ol & .

[Question ID = 5992][Question Description = S2_qSNz_PG_PHL_Q43]

1. Subcontrary/3u fdudta [Option ID = 23431]
2. Contradictory/faRrensm=ft [Option ID = 23432]
3. Subaltern/3ugpft [Option ID = 23433]

4. contrary/fausla [Option ID = 23434]

44) which one of the following is an invalid inference?

forgotferRaa 31 3 Plet AT 1A ¢ efdret 37

[Question ID = 5993][Question Description = S2_qSNz_PG_PHL_Q44]
1. If p then g, not p, therefore q./=1f¢ p dt q, p @t ,safee q [Option ID = 23435]

2. If p then g, not q, therefore not p./aif¢ p Al q , q aidt , sfere p o8t [Option ID = 23436]
3. If pthen q, p, therefore q./af p dt q ,p, sfew q [Option ID = 23437]

4. Either p or g, not p, therefore q./p = q ,p s ,3fere q [Option ID = 23438]

45) “Students are never foolish” is a proposition of the form of;

"feremell gt ot o1l A B fbA YdR I ads a3 :

[Question ID = 5994][Question Description = S2_qSNz_PG_PHL_Q45]
A proposition/A @ araer [Option ID = 23439]

| proposition/| @ areer [Option ID = 23440]

O Proposition/ O aa ara=r [Option ID = 23441]

E proposition/E aas ara=r [Option ID = 23442]

A WN -

46) Consider the following statements with reference to the distribution of the terms of the Categorical propositions?
A.Predicate term of the Negative propositions is distributed.

B. Predicate term of the affirmative propositions is undistributed.

C. Subject term of the universal propositions is distributed.

Choose the correct answer from the options given below:

forgaifeiRaa werell u? forsurfeis ad arqa @ uch @ faazur @ Jocs A far Hifse?
A SIPRICH®D dd dica @ a9 ug faafya aia 3 .

B.A®RIcH® a5 g @ fa8R1 ug sifaafya aia 3 .

C.ardsiia aas araRr @ 3391 ug faafya aia & .

il feu sru fareeal 3 A A Ia= gol ¢

[Question ID = 5995][Question Description = S2_qSNz_PG_PHL_Q46]
1. A only/dact A [Option ID = 23443]

2. A and B only/@act A siiz B [Option ID = 23444]

3. B only/dact B [Option ID = 23445]

4. A, B and C only/ddet A, B 3iiz C [Option ID = 23446]

47) Consider the following syllogism and mark the correct code.
Some snakes are friendly

No friendly beings bite

Therefore, no Snakes bite.



foratferRad oI araRr uR fear difste siiz W8 3R difsra:
3Ie: PIE AU PIed ofdl & .
[Question ID = 5996][Question Description = S2_qSNz_PG_PHL_Q47]

1. Itis a valid syllogism/=s @« sarr ara= & [Option ID = 23447]

2. Commits the fallacy of illicit major/ st sreem 2me=r arw & [Option ID = 23448]
3. Commits the fallacy of four terms/si aqwus clu & [Option ID = 23449]

4. Commits the fallacy of illicit minor/s@i st ust giw 3 [Option ID = 23450]

48) Which one is the contrapositive of the proposition “All members are voters?”

forgoifciRaa & A dlal 21 a® araRr "Asht AGRA AqcIar & ?" o1 yfeafsafda »a 3 @
[Question ID = 5997][Question Description = S2_qSNz_PG_PHL_Q48]

1. All nonvoters are members. /3t 313 sicerar =1 & [Option ID = 23451]

2. All voters are non-members. /il sicter 31 A & [Option ID = 23452]

3. All non-voters are non-members. /31sft 313 s1cerar 31z 3 & [Option ID = 23453]
4. No non-voters are members./31ft 313 aiderar 3cz=r & [Option ID = 23454]

49) Select the code which is not correct in the context of deductive argument with two premises:

O3 @ BT TRI6l DHIfSTT Sl I 3MER aIaRil @ foPeolca® aa @ oo I A3l o8l 3 ©

[Question ID = 5998][Question Description = S2_qSNz_PG_PHL_Q49]
1. An argument with two true premises and a true conclusion is valid/cl 3@ amen= araRil drelr b sl v Ad foreapdd der 3 [Option ID = 23455]
2. An argument with one true and one false premises and a false conclusion is valid/v® @l 3li? ub SIci 3R AT Alell AD 3R U olerd forept! der & [Option

ID = 23456]
3. An argument with two false premises and a false conclusion is valid./a 3Icid 3R araR arelt do 3l v sierd foreapd der 3 [Option ID = 23457]

4. An argument with two true premises and a false conclusion is valid/gax 3@l 3R araRii arelr a® 3R vb srerd forsad der & [Option ID = 23458]

50) Given below are four statements, two among them are related in such a manner that they can both be true but they
cannot both be false. Select the code that indicates those two statements.

A. Honest persons hardly suffer

B. Honest persons never suffer

C. Almost all honest persons suffer

D. Each and every honest person suffers

Choose the correct answer from the options given below:

il IR Peret fRu 31w 3, ol A 3l 331 YR AEia & fop A Sloll 18l 3l Arbd 3 cifdpat d SIoil 31eTd o1él 3l Add & . WA 3l Deell Bl colfel arct
A8 e DI Il Hifsra:

A .$ar016R SafRpRil @t 9IRIG 8 @te BT 3 .

B.$31moicR cfepeil @1 @t aoee ofdl alar 3 .

C.ceppl Wil $AGIGR caftpal @ ate Bldl 3.

D.gI® $AGIGR cAafts @l e Bl 3 .

ofid fou a1 el 3 A 8t S gl ¢

[Question ID = 5999][Question Description = S2_qSNz_PG_PHL_Q50]

A and B only/dact A siiz B [Option ID = 23459]
A and C only/@ae A siiz C [Option ID = 23460]
B and C only/dact B 3iiz C [Option ID = 23461]
C and D only/@aet C 3iiz D [Option ID = 23462]

A w N =

51) Who among the following ascribed rarefaction and condensation as two different processes of the creation of the

universe?

foratferRaa & A1 vl feretol 3iiR HHelol DI YEIUs @ Isiol DI & ol gfepsii @ »u 3 Tarm ?
[Question ID = 6000][Question Description = S2_qSNz_PG_PHL_Q51]



. Anaximander/udifeRidicz [Option ID = 23463]
. Thales/dca1 [Option ID = 23464]

. Empedocles/sfducifaert [Option ID = 23465]
. Anaximenes/walfdzmierRt [Option ID = 23466]

A WN -

52) “In this universe, no straight line is really straight; no circle is perfectly circular. Yet perfect straight line or circle exist
in their own worlds.” - This view is acceptable to whom?

"33 geuvs A @I el Year araa 3 Heht o8l 3 ; I ga araa d gareR ofdl 3 .fibe 9t guf el Y A ga Iord sruol AR A W@ 3. A
forar oA ¥dior 3 ?

[Question ID = 6001][Question Description = S2_qSNz_PG_PHL_Q52]
1. Aristotle/sr>qg [Option ID = 23467]

2. St Aquinas/3ic efraemzt [Option ID = 23468]

3. Plato/wie [Option ID = 23469]

4. Thales/ac [Option ID = 23470]

53) What is the fundamental stuff of the universe according to Heraclitus?
BAfreTeT @ TR JEIUS DI MENRYC avd a=IT 3 ?

[Question ID = 6002][Question Description = S2_qSNz_PG_PHL_Q53]
1. Air/arg [Option ID = 23471]

2. Fire/aat [Option ID = 23472]

3. Apeiron/smuf¥fdea [Option ID = 23473]

4. Water/siet [Option ID = 23474]

54) “To know good is to do good; no place for pleasure in ethical life” - who holds this view?
"3ICBTE DI SITololl 3TOT BT 3 ; olfeId Sitdol 3 J3 B e DI Ferrol ol 3 - us v faar 3 ?

[Question ID = 6003][Question Description = S2_qSNz_PG_PHL_Q54]
1. Plato/w [Option ID = 23475]

2. Aristotle/sr¥q [Option ID = 23476]

3. Sophiste/3fifsae [Option ID = 23477]

4. Socrates/yaa [Option ID = 23478]

55) Who among the following holds the view that earth is a flat disc floating on water?
forgsiferRae 31 3 Rpaop! Rrar 3 & gedl stet ur sl g8 aud By 3 ?

[Question ID = 6004][Question Description = S2_qSNz_PG_PHL_Q55]
1. Democritus/sSaiifdget [Option ID = 23479]

2. Thales/dc [Option ID = 23480]

3. Anaxagoras/usiqieiR [Option ID = 23481]

4. Pythagoras/ursemiiet [Option ID = 23482]

56) What is a ‘thing’ according to Aristotle?
3RT D UGRIR 'arq a7

[Question ID = 6005][Question Description = S2_qSNz_PG_PHL_Q56]
1. Pure Form/gsg u [Option ID = 23483]

2. Pure Matter/gg uaref [Option ID = 23484]

3. A compound of Matter and Form/ueref 3iiz %u o1 =iifdies [Option ID = 23485]

4. Neither Form nor Matter/s1 ¥u ,at ucref [Option ID = 23486]

57) Who propounded the existence of God by the argument from motion?
fop3r01 sifel & ad grI $ar & sif¥ara @1 yfearger fap=m ?

[Question ID = 6006][Question Description = S2_qSNz_PG_PHL_Q57]
1. St Aquinas/3ic ufdaetrt [Option ID = 23487]

2. Pythagoras/ursemsiza [Option ID = 23488]

3. Gorgias/sifSkmet [Option ID = 23489]

4. Thales/ac [Option ID = 23490]

58) Which of the following are true according to St Augustine?
Reason is the anti-thesis of revelation

God can be known by reason

Reason grows into revelation

God can be known by revelation

Sow=>

3¢ 3PRerEel @ SRR forafelRaa 3 A ®let a1 781 3 ?
A.a® gywcal @I yferuer 8 .

B.3vaz oI a5 A SIIell ST ADdI & .

C.aas &t ufvurfer yaoeor 3 2kt 3 .



D.%2az &I yaedl GRI SITel ST Jdhdl 3 .
il fou s1u fyeseul 3 21 & Fa= goi ¢
[Question ID = 6007][Question Description = S2_qSNz_PG_PHL_Q58]

A and B are true/A 3iiz B 3t & [Option ID = 23491]
B and C are true/B siiz C 3@ & [Option ID = 23492]
C and D are true/C 3iiz D 1@t & [Option ID = 23493]
D and A are true/D 3iiz A 3@ & [Option ID = 23494]

A W N -

59) “We do not know that events like earthquakes and epidemics have a place in the total selection of things created by

God” - This is acceptable to whom?
" &1 ofdl Sireld 3 b $var g1 PRI awqsil d wer ool 3 Yoy iR dffam FsEms Sl acesii o1 Ferr 3 "-us 5 Fdiiort 3 ?

[Question ID = 6008][Question Description = S2_qSNz_PG_PHL_Q59]
1. Locke/difas [Option ID = 23495]

2. Berkeley/aascr [Option ID = 23496]

3. Descartes/gmrt [Option ID = 23497]

4. Leibnitz/feifstest [Option ID = 23498]

60) Which of the following is not correctly matched?

forearferRaa & A1 Pt JaAfera ordl 3 ?

[Question ID = 6009][Question Description = S2_qSNz_PG_PHL_Q60]

1. Rationalism Descartes/a® gigas oKt [Option ID = 23499]
2. Critical Philosophy Kant / Jarelicaeticaics Golol 9 wic [Option ID = 23500]

3. Radical Pluralism David Hume/aifer  ageramae 3fds g [Option ID = 23501]
4. Esse Est percipii Berkeley/zgee sfer ade gael [Option ID = 23502]

61) Match List | with List I
List |
( Philosophers )

List Il

( Doctrines )

A. Spinoza I. Ontological Dualism

B. Descartes Il.Parallelism of attributes
11l. Preestablished
Harmony

IV. Immaterialism

C. Berkeley

D. Leibnitz
Choose the correct answer from the options given below:

et -1 B e -1l A g i

et -1 (sreffor ) et -l (Ragiar )

A. Ruoiist |. AT~ Seaare

B .31t Il.3yoti b} aIGTIARAr
C. sacr Ill.gd enftra ARSR=A
D . ferfeorest IV. spiiferpare

il fou o1 fyeseul 3 3 A I g)foru :
[Question ID = 6010][Question Description = S2_qSNz_PG_PHL_Q61]

A-1, B-II, C-1ll, D-IV [Option ID = 23503]
A-Il, B-1, C-IV, D-IIl [Option ID = 23504]
A-IV, B-1Il, C-1, D-Il [Option ID = 23505]
A-lll, BV, C-II, D-I [Option ID = 23506]

A W N -

62) “We think that we are free agents; this is nothing but illusion” - Whose is this view?
'8 AAS 3 [ 8 Fadq sif¥iwdl & ;a6 yA D Sfcil¥D 3iik oo o o1dl & "-us b fdar 8 ?

[Question ID = 6011][Question Description = S2_qSNz_PG_PHL_Q62]
1. Descartes/dert [Option ID = 23507]

2. Spinoza/Rusist [Option ID = 23508]

3. Leibnitz/femférst [Option ID = 23509]

4. Hume/gg1 [Option ID = 23510]

63) Who holds the view that “Some of our ideas resemble the qualities and others do not"?

15 fopropt far 3 fop"saR @ far sl A e Jeq 3 siik g far spuil A Brerd-gera o 37"

[Question ID = 6012][Question Description = S2_qSNz_PG_PHL_Q63]
1. Berkeley/sape [Option ID = 23511]

2. Locke and Berkeley/dlie 3fiz awer [Option ID = 23512]

3. Hume/&g1 [Option ID = 23513]

4. Locke/difa [Option ID = 23514]



64) “Though we do not perceive the substratum in which colour, shape etc reside, still we have to regard unperceived
substratum as existing” - Whose is this view?

"I 3 U IT2ICOTGT DI 3oI3d oldél Dl & ORI 1T ,3U 3G DI MR 3l, b2 off &31 AEIEPRI ATUCSTA B 31ea DI HAlololl USAI & ' -AUs
fosronr forame 3 ?

[Question ID = 6013][Question Description = S2_qSNz_PG_PHL_Q64]
1. Locke and Berkeley /i@ 3iiz et [Option ID = 23515]

2. Locke/difw [Option ID = 23516]

3. Descartes and Hume/gwred sl &gt [Option ID = 23517]

4. Leibnitz/fifeecor [Option ID = 23518]

65) “The forms of sensibility are intuitional and the understanding in conceptual.” - To whom this is acceptable?
"Jidg oIt @ FU 3fod: YIS 3T dieI ALIRVIcHAD BId 3 - A5 fpA e 3 ?

[Question ID = 6014][Question Description = S2_qSNz_PG_PHL_Q65]
Hume/&g [Option ID = 23519]

Kant/@ie [Option ID = 23520]

Hegel/&d1et [Option ID = 23521]

Locke/lias [Option ID = 23522]

A WN -

66) According to whom, the Absolute is an identity of opposites?
feparas sroIR guf fareiiadl o1 sifdrsirer 3 ?

[Question ID = 6015][Question Description = S2_qSNz_PG_PHL_Q66]
Locke/ife [Option ID = 23523]

Kant/w@ic [Option ID = 23524]

Hegel /@t [Option ID = 23525]

F.H. Bradley/evw.va §scft [Option ID = 23526]

A w N =

67) Who advocated the principle of ‘Synthetic unity of apperception’?
‘318 YR D It uabdn @ Rigla o1 erelor e fos=m ?

[Question ID = 6016][Question Description = S2_qSNz_PG_PHL_Q67]
1. Locke/li® [Option ID = 23527]

2. David Hume/3f&s gt [Option ID = 23528]

3. Kant/@ie [Option ID = 23529]

4. Hegel/#sk [Option ID = 23530]

68) What is the main plank of Kant’s criticism of Ontological argument for existence of God?
$oqz @ 31i¥dca I YR A1 JIRP DI Ppic DI IICIIRIGH DT JIRT MMENR AT 3 ¢

[Question ID = 6017][Question Description = S2_qSNz_PG_PHL_Q68]

1. Atheists challenge the existence of God/anf¥da® $az & sif¥aca @l geildt ad & [Option ID = 23531]
2. Existence is not perfection/siRama guiar ot & [Option ID = 23532]

3. God resides in an extra-terrestrial region/$«az gereb 9 8iq 3 31 & [Option ID = 23533]

4. Existence is perfection/sif¥aa gofar @ [Option ID = 23534]

69) “The events are so pre-organized by God in this universe, that there is peace and harmony everywhere” - Who

accepts this view?
"33 YIS 3 AT $90R GRI 3 YbR Yd IrRIRIa 3 5 2 sere orifer siiz Alerd @ -3 frar o ®lel el 37

[Question ID = 6018][Question Description = S2_qSNz_PG_PHL_Q69]
Descartes/dmret [Option ID = 23535]

Leibnitz/feiféstest [Option ID = 23536]

Locke /e [Option ID = 23537]

Kant/@ic [Option ID = 23538]

A WN -

70) Who is the author of the books - I) Discourse on Method and Il) Meditations ?

%ol gaddl Pl cRad Didl & -|)BeorRt sifer Aas ik |l)Bifdesean

[Question ID = 6019][Question Description = S2_qSNz_PG_PHL_Q70]
Locke/iias [Option ID = 23539]

Berkeley/gaser [Option ID = 23540]

Descartes/gmrt [Option ID = 23541]

Spinoza/Rusitst [Option ID = 23542]

AW N =

71) Which of the following are true with reference to Plato? Mark the correct code.
Ideas belong to a realm of their own.

Ideas are temporal.

Ideas as Forms are real.

Ideas are appearances.

Sowm>



forgaiferlRaa 31 2 Blal widl @ ool 3 A8 T ? A8 D b1 wRIe Hifsto .

A .frami &t srueit gferm Bt 3 .

B. Rrar wifers 31 3 .

C. PR @ ¥u d R ardafae aid 3 .

D.feramr sremafer A & .

[Question ID = 6020][Question Description = S2_qSNz_PG_PHL_Q71]

. Aand B/A a2 B [Option ID = 23543]
. B and C/B aiiz C [Option ID = 23544]
. Cand D/C aiz D [Option ID = 23545]
. Aand C/A iz C [Option ID = 23546]

A W N -

72) Who refuted the doctrine of abstract ideas?

fep2101 3 iRl @ Rigia @1 wsar fpar ?

[Question ID = 6021][Question Description = S2_qSNz_PG_PHL_Q72]
1. Locke/difa [Option ID = 23547]

2. Spinoza/Rusitst [Option ID = 23548]

3. Kant/wic [Option ID = 23549]

4. Berkeley/spet [Option ID = 23550]

73) Which of the following statements are true with reference to Descartes? Mark the correct code.
A. Matter is something that does not exist.
B. I think, therefore | am.
C. | am, then I think.

SpIct @ ool I foraifeiRaa 3 A Bla A weret 8 T ? 8 O BT TR I .
A.goa ag 3 Rrat sif¥aca oidi 2 .

B.3 Araen & ,saftre i §.

C.HE a3 Araar & .

[Question ID = 6022][Question Description = S2_qSNz_PG_PHL_Q73]

A and B is correct./A 3iiz B i@t & [Option ID = 23551]
B and C is correct./B 3iiz C 3@t &. [Option ID = 23552]
A and C is correct./A siiz C 38t 3. [Option ID = 23553]
B only is correct./dact B 3@ & . [Option ID = 23554]

A W N -

74) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : All that exist are ideas, with reference to Berkeley.
Reason R : There is no knowledge, which is not in the form of ideas, in the view of Berkeley.

In light of the above statements, choose the correct answer from the options given below

il St werol iRu s1e 31 was @t siftrperet (A) 3iiR g3 @) aas (R) @ar srm 3
sifirerct (A) :S@a & Aoof 3t &, Rrant (ymril ) o1 & alama § .

ads (R) :sasar 6t efte 3 Y1 DI sirot o1t 3 St Ryamst (Yol ) & wu AT .
IR PGl D 3MIelid A forvotifcpa fameal 3 A At IR ol ©

[Question ID = 6023][Question Description = S2_qSNz_PG_PHL_Q74]

Both A and R are true and R is the correct explanation of A/(A) siiz (R) @il 2@t 8 siiz (R), (A) &t 31t =me=n & [Option ID = 23555]

Both A and R are true but R is NOT the correct explanation of A/(A) siiz (R) glail 3@ & uveq (R), (A) &t A& e aiat 8 [Option ID = 23556]
A is true but R is false/(A) 3t 8 wesg (R) &t aiét & [Option ID = 23557]

A is false but R is true/(A) 3t oidl & uwsoq (R) 3t & [Option ID = 23558]

A w N =

75) Mark what is not acceptable to Kant.
forratferRaa # A wic o =i Fdor! odl 3 :

[Question ID = 6024][Question Description = S2_qSNz_PG_PHL_Q75]

1. Knowledge begins with sensations. /sirer &t gpsaia spfer 3 @kt 8 . [Option ID = 23559]

2. Knowledge arises independent of sensations. /=irer srefgferit 21 Fadq de1 alar 8. [Option ID = 23560]

3. Knowledge is limited to the realm of sensations, forms of perception and categories of understanding./siret sropajfer 81 ,Yerefiapaur @ U iz dler bl YR
31 3fifdreT 3ter & . [Option ID = 23561]

4. Thing-in-itself is the cause of sensations./a¥q ¥ arpgferll @1 BRuI 2lar & . [Option ID = 23562]

76) Read the following statement carefully and choose the correct option given thereafter:



“The buddhi obtains an intention when it thinks that the soul has a desire for experience, and because it has that
experience the sense organs [too obtain an intention]. This is incorrect; because [they are] unconscious. For the buddhi is
unconscious, and so are the sense organs. If they do not experience intention, how can their modification into the shape of

the objects be decided upon?”

Above statement represents the criticism of:

forgaifeiRaa werel @l Aaensiiyde ufeu sk W&l fawea or w=ie Hifsre :

g @I 3Zex bl Yifft 3Icl 3 5/ As FEIAL 3 [pancan 3 3o @l bl sea1 aiddl alcdl 3 3iiR fp 323 a6 repsIfer aicll 3 , soifogal @I [off SZoa
&1 giffy 23Xl 3 1516 18 o181 8 ; Riifs d srIaet aiddl 3 . gfis sRIae alddl 3 3l srelfocqi off .Afe d 3Z9A I 3ea ofdl Dl 3 ,arq3il D
TR H IoTd PUIAR UR DA forvier fpam s 2rpar 8 ?

SRt ool A fpAdl srrellaon 3 :

[Question ID = 6025][Question Description = S2_qSNz_PG_PHL_Q76]

. Sammkhya by the Nyaya school/sr1 Golor gt Jiz1 &t [Option ID = 23563]

. Nyaya by the Samkhya school/zi1iz1 gofer grI seirr &t [Option ID = 23564]

. Advaita by the Samhkhya school/i=1 gofot gt siga &1 [Option ID = 23565]

. Advaita by the Visistadvaita school/fférerga grr siga &t [Option ID = 23566]

A WN -

77) Given below are two statements
Statement I: The deterministic doctrine states roughly that human actions like all other natural events are determined by

preceding conditions, by the immutable laws of nature.

Statement Il: The karma doctrine endorsed by most the Classical Indian Schools of Philosophy leads to determinism since a
person’s present actions are a product of his past actions.

In light of the above statements, choose the most appropriate answer from the options given below

il &1 werer e are 3 :

Dol - | :foreuncas Rigia dle diz UR As dedl & b Wil 311 grapferd acotsil &l ave irera orI a1 st forerizor gd ulReaferal ,gmfa @
sruf¥acd forma @ grRI Aar 3

@l - || :gofer o bt sifraior aenlR3rhl urRdlRr RraremRis orr sepREfdia o o RBigia feeiur ac &l 3z o siar 3 w=iifes et caftp
@ adarel @ 3AD cfla D wal D afdvrme Bl 3 .

IWwRf el o ircle 3 orefeRaa el 3 A & 3a= ol -

[Question ID = 6026][Question Description = S2_qSNz_PG_PHL_Q77]

Both Statement | and Statement Il are correct/aermr | aiiz |l Qloif 21t 8 [Option ID = 23567]

Both Statement | and Statement Il are incorrect/@erwr | iz |l Giali sieia & [Option ID = 23568]

Statement | is correct but Statement Il is incorrect/eme | 31t 8, fdpoq weret |l sieta & [Option ID = 23569]
Statement | is incorrect but Statement Il is correct/@emt | sl &, fopog et Il 2 8 [Option ID = 23570]

A w N =

78) Which of the following statements is true of Karma theory as advocated in Classical Indian notions of ethics and

morality?
A. The karma theory in its simplest form means that every act, whether good or bad, produces a certain result or
consequence which can be escaped or overcome by the perpetrator of the act.

B. The doctrine of karma is posited in a religious context as a moral necessity.
C. It is an attempt to answer the question of moral responsibility in man.

D. Metaphysically, it is based upon the doctrine of physical causation, according to which each effect has to be accounted
for by its causal precedents.

E. It is a kind of extrapolation or extension of the doctrine of causation from the physical realm to the moral realm.

Choose the correct answer from the options given below:

ST b AR 91 3iiR oiferdr &bl oIkl MR sraeRun & 3eRIR forsifeiRaa 3 A ®lol A1 Rigia md Rigia @ an d 381 8 ?

A. 3t Rigia o1 JeR1 ARG ABYRI A6 3 [ yA® o 3T a1 91,1 U foif2ia wer a1 ul¥vime siar 3 RRRI 33 ©ca @1 @al &
DI S Al MUl Bl A HUR I ADPAl &

B. md & Rigia ol enfife Hocsf 3 oiftrr sivea @ wu A ST 3 .

C. a8 s 3 aiferd gif¥ica @ Adrel DI IaR ol DI GART 3 .

D. dca sfiain & diz w2 s siifere @1 -orf Rigia & Rigia uz snenf¥a 3 Rr1d sreir ge uldvms o gd - ®rRvt aidr 3 .
E. sz vob yR A Bl -orI Brgia o1 siifera 8iq A sifere &1 ao afSarar a1 firar 3 .

il fou s1e fraseul 9 3 W& 3a= goi ¢



[Question ID = 6027][Question Description = S2_qSNz_PG_PHL_Q78]

. A, Band D only/dact A, B siiz D [Option ID = 23571]

. A, B, Cand D only/daer A ,B ,C sfiz D [Option ID = 23572]
. B,C,D and E only/a@3aet B, C, D iz E [Option ID = 23573]

. Aand C only/daer A siiz C [Option ID = 23574]

A W N -

79) According to Vaisesika philosophy which of the following are included among qualities of the soul?
A. Effort

B. Subliminal impressions
C. Desire
D. Indifference

Choose the correct answer from the options given below:

JaIftyen gofer @ SroLAR foraifer¥aa 3 21 et A 3rreanr @ oyl 3 onBrear & ?

A g

B.3cre gsira

C.seor1

D .3cRilerar

sifa fou s1e faeul 3 A8l IR @I wRIel Hifste :

[Question ID = 6028][Question Description = S2_qSNz_PG_PHL_Q79]

A, B and C only/d@aet A, Baiiz C [Option ID = 23575]
C and D only/@aer C siiz D [Option ID = 23576]

A, B and D only/d@act A, B 3iiz D [Option ID = 23577]
A, C and D only/dsaet A, C siiz D [Option ID = 23578]

A W N -

80) Read the following statements carefully.

A. Mechanistic view of creation is premised on the idea that matter formed itself unaided into organisms of an almost
incredible complexity.

B. Teleological view of creation is premised on the idea that order and efficacy apparent in the things created have been
imposed from outside by a rational agent working on plan.

C. Nyaya view of creation is mechanistic
D. Nyaya view of creation is teleological

Choose the most appropriate answer from the options given below:

forraiferRaa werell @l exreyde ufgu :

A .Jfte @1 Aifeee Rigia s fdar uz snenf¥a 3 6 goa o =i @1 [on el AsrRar & cpneI sifiraicli wu A sifed iRl # ufafda
fop= .

B.3pfte @1 GRiseIcre Rigia s Rar ur snenf¥a 2 foo JRm@a avqsil 3 z9a wraven 3iik @oredl AlShlg did A ORI o2 3 diffpe wat
ORI 9162 A IRfua 3 .

C.oar1 g9fol & Potol @1 Rrgia ifew 3

D .51 cofer @ stel @t Rigia gRIlseruR® 3 .

il fou s1e fraseul 9 3 W& 3a= goi ¢

[Question ID = 6029][Question Description = S2_qSNz_PG_PHL_Q80]

. Aand B only/a@aet A siiz B [Option ID = 23579]
. A, B and D only/@aet A, B siiz D [Option ID = 23580]
. Aand C only/@aet A 3iiz C [Option ID = 23581]
. B and C only/@ac B siiz C [Option ID = 23582]

A W N -

81) Read the following sentences with reference to ethics of Vaisesika philosophy:
Statement I: Correct knowledge enables people to see that all activity leads to suffering.

Statement II: One should abstain from all activity and obtain liberation.

In light of the above statements, choose the most appropriate answer from the options given below

A9t gofor @ Aocst & ofla fRu s1e erell o ufew
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[Question ID = 6030][Question Description = S2_qSNz_PG_PHL_Q81]

Both Statement | and Statement Il are correct/emr | 3iiz |l loif 3 & [Option ID = 23583]

Both Statement | and Statement Il are incorrect/aermr | 3iiz || Siaif steted & [Option ID = 23584]

Statement | is correct but Statement Il is incorrect/@emwt | 3t 2, fpoq @t |l s 8 | [Option ID = 23585]
Statement | is incorrect but Statement Il is correct/@eml | siera 8, fdpog et |l 28 & [Option ID = 23586]

A W N -

82) According to Samkhya system dharma and adharma are:

AN 59lol D AR &3t 3i13 srexat a=m 3 :

[Question ID = 6031][Question Description = S2_qSNz_PG_PHL_Q82]
. Qualities of the soul/smear @ sjpr [Option ID = 23587]

. Qualities of Buddhi/gfg @ 3t [Option ID = 23588]

1

2

3. Modifications of the soul/smem @ Fuiaz [Option ID = 23589]
4. Modifications of Buddhi/gfg @ ¥uea= [Option ID = 23590]

83) Given below are two statements
Statement I: Emotivism as a metaethical theory holds that the action-guiding force of morality could be explained only with
reference to the special “evaluative element” in moral judgment.

Statement Il: Prescriptivism as a metaethical theory held that the action-guiding force of morality could be explained only
with reference to the special “evaluative element” in moral judgment.

In light of the above statements, choose the most appropriate answer from the options given below
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[Question ID = 6032][Question Description = S2_qSNz_PG_PHL_Q83]

Both Statement | and Statement Il are correct/@emt | 3iz I gleif 28 & [Option ID = 23591]

Both Statement | and Statement Il are incorrect/a@erwer | iz 1l GXail sietd & [Option ID = 23592]

Statement | is correct but Statement Il is incorrect/@emet | 3t 2, fpoq et |l st 8 | [Option ID = 23593]
Statement | is incorrect but Statement Il is correct/@ewr | siera 8, fipog @eret |l 2@t & [Option ID = 23594]

A W N -

84) Which of the following is true regarding R. M. Hare’s views on moral judgments?

A. They are prescriptive in character.

B. To assent to them is to assent to the imperatives that they entail.

C. To assent to an imperative involves doing something or making something the case.
D. They are a kind of fact-stating, truthfunctional discourse.

Choose the correct answer from the options given below:

forgatferRaa 31 3 Plat -l A aifere forvlret Uz 3R va 3R D Rar! & AFgcer d T8 3 ?
A. 3 m3oncHD ypfer @ BN 3.

B. 368 ¥l ygrer @2et o1 Mol @I IfieRr @l 3 .

C. fop2ft 3G 9r ot FHPR B0l I BB Bl Al 5l avq B PR®  Follor onfdret 3 .

D. Q dea @I GUel B dlcl, AcA YbRiicasm ref 3 2 .
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[Question ID = 6033][Question Description = S2_qSNz_PG_PHL_Q84]

. A, B and D only/dsaet A, B siiz D [Option ID = 23595]
. B, Cand D only/daea B, C siiz D [Option ID = 23596]
. A, Cand D only/daet A, C siiz D [Option ID = 23597]
. A, Band C only/dact A, B siiz C [Option ID = 23598]

A W N -

85) “Moral words like “good” and “wrong” resemble ordinary descriptive words like “red” and “rectangular” in that their
meaning and their application-conditions are firmly linked, so that to change either is to change the other.” Which of the
following metaethical theories is best represented by this statement?
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[Question ID = 6034][Question Description = S2_qSNz_PG_PHL_Q85]

A w N =

Descriptivism/auferarféar [Option ID = 23599]
. Emotivism/2idsrariger [Option ID = 23600]
Prescriptivism/sngerarféar [Option ID = 23601]
Cognitivism/<isteraifgar [Option ID = 23602]

86) Which of the following are Kant’s postulates of morality?

oSnwm>

Kingdom of Ends

Freedom of the will
Immortality of the soul
The existence of God

Choose the correct answer from the options given below:

forgatferRaa 31 3 Plel AT Pic DI AAferdar I YU 3 ?

A 5331 &t Fadqan
B.amean &b smerRer
C.32R o1 3if¥aca
D . Jierrs1a

ofia f3u a1 faascul 3 A
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[Question ID = 6035][Question Description = S2_qSNz_PG_PHL_Q86]

A W N -

A, C and D only/dbaet A

A, B and D only/d@act A, B sfiz D [Option ID = 23603]
A, B and C only/dact A, B aiiz C [Option ID = 23604]
B, C and D only/adaet B, C siiz D [Option ID = 23605]

, C aiz D [Option ID = 23606]

87) Who among the following ethicists argues that the hedonist definition implies that the question “is anything which is
pleasant good?” means the same as the question “is anything which is pleasant pleasant?”

forgsiferRae 3 3 wlel AT ARAIE As AP Sl 3 [ Jxaarg bI ufvsran o1 foifdare 3 fob 331 Yoot " o= @ 9l Sl SI6iGERID 3 , TSI & " I
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[Question ID = 6036][Question Description = S2_qSNz_PG_PHL_Q87]
1. Kant/wic [Option ID = 23607]

2. G E Moore/st § 3z [Option ID = 23608]

3. C L Stevenson/3it wet 3¢ideret [Option ID = 23609]

4. R M Hare/3m wa 33r [Option ID = 23610]

88) Which of the fol
moral properties are

lowing theory of morality advocates the view that basic moral propositions are self-evident, and that
non-natural properties?

forgsifeiRaea 31 siferaper o1 ®lot A1 Rigia 51 Rrar @I @1 Jereler war 3 3 fb et siferd sneraraR ¥aa: Rig 8l aifere apur 31z -

Farfe 3gu1 3 ?
[Question ID = 6037]

[Question Description = S2_qSNz_PG_PHL_Q88]

1. Intuitionism/sma: gsimars [Option ID = 23611]

2. Prescriptivism/sngeraifgar [Option ID = 23612]

3. Supernaturalism/sifelgaferars [Option ID = 23613]
4. Emotivism/3idemarg [Option ID = 23614]

89) Match List | with List Il

List |

List Il

IA. Biocentrism

|. The ethical belief that some animals warrant moral consideration as ends in themselves, rather than
means to human ends.

B.Ecocentricism

Il. The ethical belief that all living individual beings have moral value as ends in themselves, rather
than as means to human ends.

C. Anthropocentrism

Ill. The ethical belief that both individuals and whole ecosystems, watersheds, species, the biotic
community have inherent value as ends in themselves.

D. Zoocentricism

IV. The view that human beings are the only, or the primary, bearers of moral rights.

Choose the correct a

nswer from the options given below:
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[Question ID = 6038][Question Description = S2_qSNz_PG_PHL_Q89]

A-1I,B-1V,C-1,D-lll [Option ID = 23615]
A-11,B-1,C-1,D-IV[Option ID = 23616]
A-11,B-1,C-1V,D- Il [Option ID = 23617]
A-1l,B-1ll,C-1V,D-1[Option ID = 23618]

AW N =

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : According to advocates of animal killing the argument that to kill an animal is objectionable because it is
contrary to its will is not acceptable.

Reason R : Animals lack the degree of self-consciousness necessary to conceive of, deliberate about, and plan for their own
future lives.

In light of the above statements, choose the correct answer from the options given below

il S perel fRu 31w 3@ uep @t siftrperet (A) 3iiR g3 @I ads (R) @ar sRI 3
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fasg 3.
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odft Bl 3 .
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[Question ID = 6039][Question Description = S2_qSNz_PG_PHL_Q90]

Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) cleil 3@t & 32 (R), (A) &t 3 wmen & [Option ID = 23619]

Both A and R are true but R is NOT the correct explanation of A/(A) siiz (R) gl 3@t & wesq (R), (A) &t 0 =me=n ot & [Option ID = 23620]
A is true but R is false/(A) 3@ 8 uw3sg (R) 3@ ordt 8 [Option ID = 23621]

A is false but R is true/(A) 3@ oiél & weoqg (R) 28t & [Option ID = 23622]

D wnN -




